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Topic:- Physics

1) A steel wire is stretched by a force of 2N. If the diameter of the wire is doubled, its Young’s Modulus
will ./ TP ST & dR B 2N 9 gRT Wi 141 2 1 afe IR & T B A1 H AT Jean g,
dl ST I ATYID |

1. become two times / Gl ﬂ:ﬂépf SR

2. become four times / <X [T EASIERI

3. be one-fourth / Udh %ﬁtﬂs‘ a SR

4. remain unchanged / 3qfafedd T|

Correct Answer :-

« remain unchanged / 3qfafedd W&

2) A man goes to the market which is 10 km away from his home in an auto at a speed of 20 km/hr and
returns home after an hour in a bus at a speed of 40 km/hr. The time taken by the man to reach his home

back is: / T ST 30 T | 10 frHt g3 IT9IR # U sifel & 20 fpi/ae ot afa & A1 8 SR TP
ﬁ%%;wwﬁm%d’r/ﬁ%aﬂwﬁrwﬁm%lam%wamuﬁaﬁ%mw%mmw
dJHY &:

1. 60 minutes / 60 fiC
2. 105 minutes / 105 fiFTe
3. 75 minutes / 75 T8I
4. 45 minutes / 45 fi-e

Correct Answer :-

« 105 minutes / 105 e

3) A block of mass 2 kg is placed on a plane surface. The coefficient of static friction is 0.4. The block is
pushed by a force of 4 N and it still continues to be at rest. The frictional force between the block and the



surface is (g = 10 m/s? ): / 2 FHERITN SoaUT &1 TP gheT GUAd g R 3T 47| Rfaew afor o1
U 0.4 81 4 N & 961 GRI ¢Phs D! Yad1 f&ar mar 3R 98 3nfi W R R 31 cops sk T &
mmaﬁ(g= 10 m/s?) %:

1.8N
2.1.6N
3.0N

4. 4N

Correct Answer :-

« 4N

4) A train whistling its horn with a frequency of 500 Hz is at the station and the speed of the wind is 25
km/hr. The frequency of the horn as heard by the passenger who is waiting at the station will be: / 500

o B ATGIRT A I ToTdl §5 YeTS] XM W § 3R a1y & 7fa 25 ffi/eer 31 == W udten
X 72 I Y GATS USA a1l gi- @ gy gt

1. 12500 Hz
2.500 Hz
3.475 Hz

4.525Hz

Correct Answer :-

e« 500 Hz

5) A gas molecule collides with the wall of its container with a speed ‘v’ and at an angle 30° with the
normal. It rebounds with the same speed making the same angle with the normal. Which of the following

statement is CORRECT?/Wﬁqﬂﬁ‘v’ﬁmqﬁaﬁaﬂﬂﬁwa?mu 30° & DIV TR
THICT 2 | 98 FHE Tfd A UHTHI & 1Y JHH S0 1D cp PR dledi gl g A I S an

FYT TS 82
1. Collision is inelastic and linear momentum is conserved. / CIhH T“hﬁq % 3R W TaT TRfera Eﬁ?ﬂ % [

2. Collision is inelastic and linear momentum is not conserved / Cdh Fﬁﬂ?ﬂq % 3R W T W&‘Iﬁ :%3[
Fargl

3. Collision is elastic and linear momentum is not conserved. / CIh Adh GIR % 3R W T W&‘Iﬁ :@1
Bargl

4. Collision is elastic and linear momentum is conserved. / CIDH I AAD IR % 3R W TaT w&‘lﬁ Eﬁ?ﬂ %I

Correct Answer :-

« Collision is elastic and linear momentum is conserved. / CdhT AddDh IR % GﬁT W a1 w&‘lﬁ @W %I



6) A fly wheel makes 600 rpm. The linear speed of a point 5 cm from the center of the wheel is: / b

TS Il 600 RUTTH FTAT 3 | TP & g A 5 QI fig &1 e nfa &:
1. 6007 m/s

2. 1207 m/s

3. m/s

4. 1007 m/s

Correct Answer :-

e TM/S

7) In a resonating air column for finding velocity of sound waves, the first resonating length was heard at

20 cm. The second resonating length will be approximately at: / A TN & T BT UaT T & ﬁl'E

méﬂﬁﬁmﬁuﬁ,wﬁmﬁmzoﬁtﬁwgqﬁuﬁl TR SATE GATS AU 5 R

1.50 cm / 50 TH
2.40 cm / 40 I
3. 60 cm / 60 T
4.30 cm /30 9

Correct Answer :-

« 60 cm/ 60 A

8) A cricketer can throw a ball to a maximum horizontal distance of 200 m. The maximum height up to
which he can throw the same ball in the vertical direction with the same initial velocity is: / T

200 ez & ftrran Qfow g&f 9 g 1 Bd THar 81 98 siftrean Farg g 9@ ag W g
B UM YRS I I SHeaieR = § e ol o:

1. 100 m
2.400 m
3.200 m

4.50m

Correct Answer :-

e 100 m



A wooden block of mass 5 kg is at rest on sand. The action and reaction forces are

respectively. /hwsﬁﬁgmmﬂmmwgwmwél FpaT oI ST O
HHRT: I

1. frictional force and gravitational force / YU 9 3R W’q oc

2. force exerted by the block on the sand and the force exerted by the sand on the block / AW E:GI'@' g1
T 1 96 3R gha UR ¥ gRT T 191 9

3. force exerted by the block on the sand and gravitational force of earth / AW gcb\% GRT TRTTT 47 1 3R

g BT @ g

4. gravitational force of earth and force exerted by the block on the sand / q‘zaﬂ Eal ‘\Rﬁ'q d ARIT W ‘g'a%
EIRSHIRIRIRICE]

Correct Answer :-

« force exerted by the block on the sand and the force exerted by the sand on the block /AR ?}b% gIRT
T 1 96 3R ha UR ¥ gRT T 11 9

10) A sprinter running at a constant speed of 10 m/s is taking a turn of radius 25 m. His acceleration is: /

10 M/A B} THIHT 1 A SIS 8T YTad 25 HI ST BT TP AS & T8T 8| SHPT 0T &
1. Zero as he is moving with constant speed / [, Fife dg UhIHTH dld RRIGEIC %

2. Non-uniform due to change in direction / foen & uRada & SR SHd

3. Uniform acceleration directed radially inwards / 3Tddh Bsud: foxe Th IR dUI

4. Uniform acceleration directed along the tangent / TR & 91y fate TR @Rl

Correct Answer :-

« Uniform acceleration directed radially inwards / 3Tdd> Foua. fow THaR @R

11) Surface tension of water cannot be reduced by: /9TIt & YeS-d-1d Gl 5'\‘1% ANE RG]
HPhdl:

1. Mixing detergents / TSR DI FHara
2. Decreasing temperature / dTUHTT YcCThR
3. Increasing temperature / dATYHIT dglh X

4, Pouring oil / dd SAdHR

Correct Answer :-

« Decreasing temperature / dTJHIT YCThR



Car A is moving with the velocity of 25 km/hr. Another car B is moving with the same speed in the
opposite direction. The relative velocity of A with respect to B is: / PR A 25 fpei/aer & a7 3 9 w8t
81 T® 3 R B faudta fazn & wwm= wfa & 9a 381 81 B & W & A &1 amifére aw gm:

1. 12.5 km/hr
2. 0 km/hr

3. 25 km/hr
4, 50 km/hr

Correct Answer :-

» 50 km/hr

13) A car from rest accelerates uniformly at a rate of 2 m/s2. After 5 s, a stone is dropped from the
window which is 1 m high from the ground. The acceleration produced in 0.1 s after it is dropped will be

(g =9.8 m/s?): / U BT favTH A 2 HA2 $1 R A THAAM F¢dll 81 59 & 91, TP TR B! @1
9 R g ar &t e & 1 Wi S 21 99 iRM & 91<, 0.1 / § Sufed ©Rurghmm (g = 9.8 A/

@'2):

1. 11.8 m/s?
2.7.8 m/s?
3.9.8 m/s?
4. 0.98 m/s?

Correct Answer :-

« 9.8 m/s?

14) Two cranes A and B lift cars each of mass 2000 kg to the same height. Crane A takes 1 minute and
crane B takes 2 minutes to lift them up. The ratio of their power is: / 33[ P A 3R B, TS 2000 fHuT
SHT B MISAT BT THM a1 IR IoTd ¢ 1 38 36T & A 957 A, 1 fiFe At 8 SR 991 B, 2
e At 31 399 =fda &1 Ut B:

1. 2:1
2.1:2
3.4:1

4, 1:1

Correct Answer :-



15) Two copper wires of same thickness but lengths of ratio 1:2 are stretched by the same force. The

ratio of strains in the two wires will be: / aﬁ%a‘raﬂﬁqﬁtﬁ?@w%ﬁﬁmﬁaﬂmﬁq‘rm
ST 1:2 8 o aum 9@ 9 ifar wirar 81 &) arf # fyafaal &1 srgura ghm:

1.1:4
2.2:1
3.1:2
4. 1:1

Correct Answer :-

o 1:1

16) Two vectors each of magnitude ‘A’ acting at a point gives a resultant vector whose magnitude is
equal to the magnitude of the given vectors. Then the angle between the two vectors is: / T ﬁl‘g’ R P

B W TP A TR0 & &) Afewr vep uRumdt afesr dar @ foraer ufvaror fed ma afe=n & ufwmor
P RIR g1 a1 &) Ifezn & §= &1 HYor ghm:

1. 120°
2.90°
3.45°
4. 60°

Correct Answer :-

o 120°

17) Two blocks of wood 20 kg and 30 kg tied together by a light string and is placed on a horizontal

surface. If the smaller mass is pulled by a force which produces an acceleration of 2 m/s2. Then the force

is: / 20 fHUT 3R 30 T TH St & Gl THS TP T UM A 91U T 3R T Qfa g W @ T B
i B SUHME B U 9 gIRT J1AT SATdT @ & 2 A/A2 BT @R UG HIdT 2| df 9 &

1.40N
2. 100N
3.20N

4.60N

Correct Answer :-

« 100N



18) Two sound waves at a point are represented by y; =5 Sin 1000zt and y, =5 Sin 988 ©t. Number of
beats as heard by a person will be: / T ﬁ’g TR tafy a3t y1 =5 Sin 10007t 3R Y2 =5 Sin 988 nt GIRT
Wi &1 9Tt &1 Te fed gR1 A T fys engfa &t e g

1. 988
2.6
3. 1000

4.5

Correct Answer :-

19) Principle of calorimeter is based on: / SR &1 Rigia A w snua %:
1. Avogadro’s law / SManTs &1 |
2. Law of conservation of energy / %51l TR&UT (40T

3. Law of conservation of mass / GoTHI TR &0 09
4, Law of partial pressures / 3R gl &1 fFom

Correct Answer :-

« Law of conservation of energy / 3ol GR&UT 49

20) A body of mass 5 kg initially at rest is subjected to a force of 10 N. The Kinetic energy at the end of 5s
is: / (ST B favm FRATA B 5 f5u1 Soqum= &) v avg W 10 N 96 Sma1 a1 g1 59 & Sia o
Tiforet St &:

1.2507J
2.1001J
3.20J

4.50)J

Correct Answer :-

« 250)J

21) A boy pushes a wooden block of 10 kg up on a frictionless inclined plane of length 5Sm. The vertical
height of the top of the plane from the ground is 2 m. The work done in pushing the block to the top of

the plane is (g = 10 m/s2): / T TSI, 10m%wm%gﬁﬁsﬁama?ﬁm%a
ST FHIA TR Ybhedl 8 | S A I & SHW 1 HWER FA18 2 W 81 s I gHad & iy

TR yhe | frar a1t (g = 10 WA2) 3:



1.1007J
2.2001J
3.20J
4.501]

Correct Answer :-

« 200J

22) A ball of mass of 100 gm is suspended by a string which makes an angle of 60° with the vertical and
made to revolve in a horizontal circle of radius 10 cm. The centripetal force on the rotating ball is: / 100

UTH SHHT B TP ¢ Bl TP YT GRT ACPHTIT SITdT & Sl HEATR P ATY 60° BT D11 I4TdT & 3R
I 1097} Brear & afast T ® grmar sirar 31 goff Ag w sifdda-aa gim:

1.273
2.3

3. 113
4.1/2\3

Correct Answer :-

. \3

23) A hammer of mass 2 kg with a speed of 5 m/s strikes the head of a nail of negligible mass and drives
it in to a block of wood. The impulse of the force is: / 2 fPENUTH FSTHTT BT TANST, TP UG GHAT
@t B & M TR 5 /A B 70 A TgR FIT1 8 3R I Ah S S ghS | olhdl o | 6 PT AT &:

1.-10 Ns
2. 10 Ns
3.-5Ns

4.5Ns

Correct Answer :-

e -10 Ns

24) Temperature difference of 10°C is same as temperature difference of: / 10°C T dTUIAR, 39 AU

%WB’HT%
1. 10K

2.20K



3.263K
4,283 K

Correct Answer :-

« 10K

25) 68°F is equal to: / 68°F SHP ST &:
1.273K

2.20K

3.293 K

4.341 K

Correct Answer :-

« 293K

26) Water at a dam falls through a height of 210 m. If half of this energy is converted in to heat, the rise

in temperature of water will be (g = 10m/s2 C of water = 4200 J/kg/K): / Th I T qrHt 210 Tex 31
SaT% & fRar & afe 59 St 3t sndht arn o1 o & uRkafda = fear g, @ ureht & aoame o

gfs 8ft (g = 10m/s2 UTHT BT C = 4200 J/kg/K):
1. 0.5°C

2.2°C

3.4°C

4.0.25°C

Correct Answer :-

« 0.25°C

27) A simple pendulum bob of length 1 m displaces through 10 cm in 1.9 s. The angular displacement for

this time interval is: / 1 H1eX GETS BT TP WA UgaH 19, 1.9 F A 10 I fawnfa lar 81 39 9wg
3aRTe & fore wivfig fawimu= 8:

1. 0.5 radian
2. 0.01 radian
3. 10 radian

4. 0.1 radian



Correct Answer :-
¢ 0.1 radian

28) Which of the following is an INCORRECT statement for gravitational force? / faddsaa

FYF T 0 F IR | T 872

1. It is a conservative force. / g Udh TRef 9 %I

2. It obeys Newton’s third law. / g < & IR W &1 UTed SRl %I

3. It depends on the medium between the two masses. / g 3l fisi & og & mrerm W AR wvan % I

4, It does not depend on the medium between the masses. / g fisi & g & oM R AR T8 Hrarg|

Correct Answer :-

« It depends on the medium between the two masses. / g ?«pf sl & &g & Arew R AR S %’ [

29) Which of the following material has the lowest value for coefficient of linear expansion? / fadaa

e uqrd # e UER TUIiE BT A AGH g1 82
1. Aluminium / UAATY
2. Invar / 9dR

3. Iron/?’ﬁ_s'

4. Silver / 3sld

Correct Answer :-

o Invar/gdR

30) Which one of the following statements is CORRECT regarding vector? sk E Kk TPh hYq

e @) F IR 4 aE 22
1. A vector multiplied by a scalar is a scalar. / Tdh C’Hﬁ'QT GIRTIOM ICRIRIEI] H%—QT Th 311%-‘21 Eﬁ?ﬂ %I

2. Three vectors lying in the same plane can be added up to a null vector. / FHIT JHIA T IufRyd o= afeen
DI SISHR U Y TG F1T off TehaT & |

3. The magnitude of a vector quantity is always another vector. / Y Tfer iR &1 aRkar Eﬂ'-‘fﬂ Udh 3
RIESEGRIE]

4. The scalar product of two vectors is always another vector. / a gfe g &1 e Ut Eﬂ?ﬂ Uh HY
BICRIECIE]

Correct Answer :-



« Three vectors lying in the same plane can be added up to a null vector. / FHH JHIT T IuRYd o e
DI SNSH Th LI Jf ST o bl B |

31) If the linear speed of a particle and the radius of the path are doubled, then the centripetal

acceleration /Hﬁmaﬁitqﬂuﬂﬁfaﬁvwaﬁﬁwaﬁﬁwam%,a‘raﬂ%ﬂm
[ELU| |

1. becomes four times / TR [T E:Pf STl %
2. becomes twice / Gl T HSIGIE

3. becomes eight times / 3T [T RSN
4. remains the same / JH Igdl %

Correct Answer :-

« becomes twice / &l RIGII 33[ STl %

32) A comet orbits the sun in an elliptical orbit. The quantity that remains conserved during its motion

%q;m,aﬂqaﬁumnﬁq&aﬁuﬁwmﬁl 98 T o 39 Tfa & SR ot WRfda

1. Velocity / aT

2. Kinetic energy / TS St

3. Angular momentum / P0G AT
4. Speed / dIcl

Correct Answer :-

« Angular momentum / CANIBEIER

33) The ratio of frequency of the fundamental note produced by an open organ pipe to a closed organ

pipe is: / TP G TH-UTEY §IRT ITIEd G @R P G BT d¢ TH-UI5T F U &:
1. 2:1
2.1:2
3. 4:1
4.1:3

Correct Answer :-

e 2:1



34) The ratio of displacement to distance covered by a body is ./ T dY] P ERTTT DI TS

R fmEsiesgua__ gargl

1. either less than or equal to one / I O Tdh JHaal m CRER
2. always greater than one / Bﬂ’-‘fﬂ U Y 3ifdw

3. always equal to one / UM TS o THH

4. always less than one / B'El'sfﬂ Tdh JpH

Correct Answer :-

« either less than or equal to one / T ar Uh Y B 71 3D SRR

35) The refractive index of a medium is givenbyn=A + B/22. The dimensional formula for A is: / TP

HISTH BT SUGATIP n = A + B/A2 GRI fear smar g1 A & fore fafia g7 &:
1.L

2. 12

3. L2

4. M0L0TO

Correct Answer :-

« MOLOTO

36) The radius of earth is approximately 6000 km. The weight of a person at a height equal to the radius
of the earth from the surface of the earth will be: / qﬁ @1 B @ 6000 fHaniier 81 qzzﬁ C4|
g 9 T4 B 391 & RIaER S8 W TP Afdd HT goi- gHT:

1. 1/16 th of his actual weight / 3 IRAIdDH dol BT 1/16
2. same weight / JHIA dolq

3. 1/4 th of his actual weight / IYP IRAAP dold Bl 1/4
4. 1/2 of his actual weight / 3T& dRAId® goi- &I 1/2

Correct Answer :-

« 1/4 th of his actual Weight/maﬁmmw 1/4

37) The energy conversions taking place in a thermal power station are: / U Suitg ﬁg‘uﬁ C-L: KR |
qTeT Sl SR 3:



1. Chemical energy to mechanical energy to electric energy to heat energy / IS Sl 9 gifde SHoll I

fagad Sl 4 ST Sl

2. Chemical energy to heat energy to mechanical energy to electric energy / R Soll & SSAT SHolt I

gifA® SHoil 4 fagaq Sl

3. Heat energy to chemical energy to potential energy to electric energy / 3 SHI Sl U IMRFS Soll

yfas Sof 9 fagaq S

4. Potential energy to thermal energy to chemical energy to electric energy / fyfas Sl ¥ Suia o 4

TS St ° fagaq SHeif

Correct Answer :-

« Chemical energy to heat energy to mechanical energy to electric energy / RS Soll & SSAT SHoll I

TifAd SHoil 4 fagaq Sl

38) The velocity of sound in oxygen at STP is 332 m/s. If its pressure is doubled, the velocity

becomes ./ STP WR SfTerfter # eafy &1 3% 332 WA 71 afe 3961 g9 SR H2 e wman
g A @rerarg

1.332 m/s
2. 1328 m/s
3. 664 m/s
4, 166 m/s

Correct Answer :-

* 332 m/s

39) The displacement of a body is directly proportional to cube of time taken. Its acceleration

is ./ T g BT [ARIT 1T T I9a & 99 & SHATIUT & | SHBT @R 2l
1. increasing with time / HHY & 1Y dedl

2. constant / FRR

3. decreasing with time / JHY & 1Y HH gIal

4. zero / [

Correct Answer :-

« increasing with time / HHY & 1Y dedl

40) The binding energy of a satellite orbiting earth in a circular path is: / b Q(_\'ﬂ'q qy o q%aﬁ |

UfShHT BX I8 T SUUE B 94 ol gl a:



1. Always zero / RLEN R
2. Always negative / HRIT BUTHD
3. Always positive / AR ¢ATHD

4, Either negative or positive depending on its height above the surface of the earth / q?ﬁﬁ D UAE B W
IYD! FHals R FHR a1 dl B a1 Y1

Correct Answer :-

o Always positive / Eﬂ'Q'IT YATHD

41) The SI unit of surface tension is: / J&S-d-Td P SI SPIS e

1. Jm?

2. Nm
3. N/m?
4. J/m?

Correct Answer :-

42) The escape velocity of a body of mass 2 kg is 11.2 km/s from the surface of earth. The escape velocity
of the same body from a planet of twice the mass and radius of earth is: /q%aﬁ 4| qdg T 2 fHuT goqu=
D g BT UATa a7 11.2 fHHA 81 gt & g1 41 o= iR A & U 78 9 St avg a1
T 97 gRI:

1.22.2 km/s
2. 11.2 km/s
3. Independent of the mass and radius of the planet / Ug & THAM 3R s & Wda

4.5.5 km/s

Correct Answer :-

e 11.2 km/s

43) A projectile is thrown at an angle of 30° with respect to the horizontal direction. The angle at which
it has to be thrown to get the same horizontal range is: / WUE}W 31 afasr fe=m & Ao | 30° TR
e oITdT 3 | 98 P11 fore wR 391 &fas Wi &t ura a3 & forg 9 thept s =nfee @

1. 90°

2.45°



3. 60°

4.10°

Correct Answer :-

. 60°

44) The dimensional formula for decay constant of a radioactive material is: / Jeaafeg i & &aie »
e fafaga e:

1. T2
2. T!
3. T!

4, MLT!

Correct Answer :-

. T_l

45) The SI unit of solid angle is: / 3T BT BT SI ng %z
1. No unit/ﬁé?ﬂéqﬁ

2. Radian / 3{&T4

3. Degree / &

4. Steradian / TXF&TA

Correct Answer :-

o Steradian /TSI

46) The pair of physical quantities which do NOT have the same units are: / 5T ifae afkma & qH IR EA
SHIEYI G AR §, I §:

1. Impulse and linear momentum / 3T 3R IRFH AT

2. Work and energy / &1 3R St

3. Pressure and stress / @19 3R Ufaad

4. Force and surface tension / d¢1 GﬁT q@ﬁt{ ddrd

Correct Answer :-

« Force and surface tension / & 3R qg‘ﬁ REIC)



47) The order of magnitude of mass of an electron (9.1 x 1031 kg) is: / TPh sﬁag"h & A 9.1x10°

31 f5um) &1 ufHTor Hife g &:
1. 103%g

2.1032kg

3.103 kg

4.1030kg

Correct Answer :-

« 1030kg

48) A body is thrown vertically up with a velocity of 100 m/s. The magnitude of velocity of the body

after 15s will be: / U@ g I 100 HI/A & AT A HATtR SR B MR BHT T ST F TG aG D
a"TEF[tIﬁTITUTE-)ITIT

1. 100 m/s
2.50 m/s
3. 10 m/s
4.0 m/s

Correct Answer :-

« 50 m/s

49) Which one of the following statements is CORRECT for stationary waves? / ST o & AR |

g A A 919 91 TP YT IE B2

1. All particles of the medium do not cross the mean position simultaneously. / HI®H & T DU TP 1Y A1
YT BT IR 8T PRl &

2. All particles at the nodes are always at rest. / :hgﬂ TR G 01 gHRM faRE R B B
3. There is net transfer of energy along the wave. / A o 1Y 3ol BT - RIFIARUT gIdl gl
4. The phase of all particles is the same. / Ut SO B TraRIT gHH ﬁ?ﬁ %

Correct Answer :-

« All particles at the nodes are always at rest. / fﬂw TR G 01 gHRM faRH W B B

50) If the magnitudes of three vectors A, B and C are 6, 8 and 10 units, respectively, and A + B = C, then

the angle between A and B is: /qﬁ?ﬂqu,Béﬁ?C%qﬁ'ﬂmmi 6,8@?1033‘7@1%-,\%?
A+B=C, 1A 3R B & ST FTHIT§:



1. 90°

2.45°

3. 60°

4.30°

Correct Answer :-

« 90°

Topic:- Chemistry

1)

Studw the graph depicting the variation in ionisation enthalpv with atomic number and
identify the element having the highest ionisation enthalpv and the element with the lowest

ionisation enthalpy. / OXHIU] hHleh & T 3TAeTe] GUITSH I T3ewTT T G217l 2T 1
H

1. Highest IE = He and lowest IE = Cs / 3=ddH IE = He Ud [A%dH IE = Cs
2. Highest IE = Ne and lowest IE = Li / 3dH IE = Ne U4 H%aH IE = Li
3. Highest IE = Ne and lowest IE = Cs / 3=aH IE = Ne Ud AUdH IE = Cs

4. Highest IE = Ne and lowest IE = Rb / 3=dH IE = Ne Td AUdH IE = Rb

Correct Answer :-

« Highest IE = He and lowest IE = Cs / 3= dH IE = He Td FgdH 1E = Cs




2)
CsHs + C:H:Br 2 CsHs— C:Hs + HBr (in presence of anhydrous AlCl:) What is the name of this
reaction? / CeHs + C2H:Br > CeHs— C:H: + HBr (f=ter AlCL Fr 3ufdufa #) sw wfafemar =

ATH F4T 8

1. Wurtz reaction / a_CfTF[ 3ifuferar

2. Kolbe’s reaction / ﬁaﬁ o1 fufar

3. Friedel Craft’s reaction / Q’ﬂ@ﬁ PHIue B ATHfhar
4. Saytzeff’s reaction / T B SNk

Correct Answer :-

o Friedel Craft’s reaction / FBQIEF‘T HTue B AT

3)
Fora reaction of the type 2A(g) + B(g) = 2D(g). AUO=—21kJ and ASO=— 88.2 JK—1. What
would be its free energy change and based on that predict whether the reaction would occur

spontaneously? / 2A (g) + B (g) = 2D (g), AUO=—21kJ 92T AS0=— 88.2 JK—1 9N F TH
THERUT ¥ o, swE ged Fo aitads 47 ERf 9O 3@ WElied % HUR W T
AT ET A

1. AGY = +2.806 kJ, reaction is non-spontaneous / AGY =+2.806 kJ, 3fiferar TR-Iaa: Bﬁ?‘ﬁ %I

2. AGY = —23.478 kJ, reaction is spontaneous / AGY =—23.478 kJ , 3ffHfepaT d: Bﬁ?ﬁ %’I

3. AG? =—2.806 kJ, reaction is spontaneous / AGY =—2.806 kJ, 3N W a: @T‘ﬁ %I

4. AG"=—49.772kJ , reaction is spontaneous / AGY=—49.772 kJ , 3fHfHaT ad: Eﬂ?‘ﬁ %I

Correct Answer :-

« AGY =+2.806 kJ, reaction is non-spontaneous / AGO =+2.806 kJ, 3fiferar TR-Taa: Eﬂ?‘ﬂ %I

4) Given below are 2 thermochemical reactions. Which one would work as a better rocket fuel? What would

be the AHcomp for 100g of that fuel? / - €I SHERTHMAN® THHRUT 3T 7T & | H17 91 TP JgaR Adbe 389
FU Y ST HIM? 3T YA & 100 T & AT AH,,,, FTERI?

1: 2!'-"11{3:._3.2 03'3' % 1‘511303{;:. E AH=—16867.8 kT
2! Hgg _1.203.@ 9 HJO.:]:. = AH=—2859kT

1. H is the better rocket fuel; AH = — 14295 kJ / H SgaR P e & %; AH =— 14295 ﬁv_cﬁﬁﬁ
2. H is the better rocket fuel; AH = — 28590 kJ / H SR e 54 8; AH = — 28590 IEISS



3. Al is the better rocket fuel; AH = — 83390 kJ / Al §8cR b 34U §; AH = — 83390 fobeiiolet
4. Al s the better rocket fuel; AH = — 166780 kJ / Al 98dR e ELE] %; AH =— 166780 ﬁ’?’hﬁjﬁ

Correct Answer :-

« His the better rocket fuel; AH = — 14295 kJ / H §8aR e 38 §; AH = — 14295 fhalod

5) Coordination number of Ni in [Ni(C,04)3]* is: / [Ni(C,0,);]* ® Ni ®) U9 TBAT §:
1.3
2.6
3.2

4.4

Correct Answer :-

6) At very low pressure, the van der Waals equation for 1 mole of a gas can be given as: / dgd ®H qdld

#, T T & 1 A3 & forg 39 3R are FHfieRur R aR four o e @:
1.(P+a)(V—b)=RT

2.(P+a/VZ)(V—=b)=RT

3. PV =RT

4. PV=RT +Pb

Correct Answer :-

« PV=RT+Pb

7) A cylinder of ‘X’ litre capacity containing HCI gas is inverted over another cylinder of the same
capacity containing NHj3 gas, both the gases are being maintained at the same temperature and pressure.

After about 30 minutes, what would be the pressure inside the cylinder? / HCI1 T WY X’ AR &HdT
e U ATy 3t U 30 NH; A YR T &4 a1d U fifeiey & SuR sgapfid far war 2|
S AT Y THIF ATYHTE GYT ST U= @1 ST 8T § | ST 30 e & a1e, Ridsy & sier g
T BI?

1. Pressure is reduced to 1/4 the original pressure / Gdld, Hel qdld 3 1/4 G ST 8|
2. Pressure remains the same / G GaTd IgdT g |

3. Pressure drops considerably / ¢dId BB Wﬁﬁ Il %’I

4. Pressure becomes double the original pressure / G&Td Hel Gdlld ol A [T RG]



Correct Answer :-

« Pressure drops considerably / adld HIh] HH E?f ol [dl %I

8) A radioactive element has a t;, equal to 60 minutes. What would be the fraction of atoms of the
element that would have decayed in 3.0 hours time? / TS JfsaryHt a@ | 60 fiFe & R t12 gargl
I & URHTULSN T 3= FT I, i 3.0 TS T H &7 g2

1.25%
2.125%
3.87.5%

4.85%

Correct Answer :-

« 87.5%

9) An aliphatic alcohol (ROH) on heating with conc. H,SO,4 at 443K gives an alkene (A). A on reaction

with HBr forms the more substituted bromo compound. Alkene (A) when reacted with cold dil. aqueous
KMnOy gives the dihydric alcohol propane-1,2-diol. Identify ROH. / gifgd H,S0, & 1Y Udh

Tfrthfe® Srehied (ROH) B 443 HIedT TR TH H3A WR TP (A) SAT R A, HBr & AFUTHaT I3
3ifere ufereutiia st Fiffre &1 At 3d 81| taaie (A) Y 19 Haa ag@d oeltd KMnO, &

a1y 3iffsrar HIrft STt @ o SRS fE® sremied WuH-1,2-8Taid &1 fHuiur a1 8 1 ROH FY
qga|

1. 1-Butanol / 1-sg¢Id

2. 2-Butanol / 2-@1%7‘%‘[

3. 2-Methylpropan- 2-ol / 2-FrTEadIu-2-3ifa

4. 1-Propanal / 1-9TU-T@l

Correct Answer :-

« 1-Propanal / 1-S0d

10) For an electron found in the fourth shell of an atom and whose 1 value is zero (I=0), what would be its

orbital angular momentum? / Y GIHIY] FNY B A LY EIEKIG] Eﬁﬂﬂ'ﬁ & ﬁnz, 3R T 1
HTH XA B (1=0), 39T H&ig Hvfig I a1 g2



4. Zero / [
Correct Answer :-

o Zero /[

11) For a given mass of a gas if its volume is increased to four times its original volume, what would be
its pressure, assuming its temperature to remain constant during this process? /N F Udh ﬁ'({' Mg

U & 1T, afe 3a% SmaasT &t Yo M- I IR THT g $- & Ardt 3, af 59 ufehdr & gR=
T dTUAT P FRIR A1 4T SIrdT 8, SHeT &1 o1 g

1. P/4

2. 4P
3. 16P*

4. 4P/V

Correct Answer :-

« P/4

12) A chemical compound comprises of atoms A, B and C. If the oxidation number of A =+3, B =+6 and
C =—3, what is the correct chemical formula of the compound formed by their combination? / T

IRIRAT® Gt & A, B Td C URHTU[S HT THTAY § | afe STRIBRUI IBINA = +3, B=+6Td C =
—3 8, A 3% WU gRT 91 AP T I8t I 3 1 8?

1. Ay(BCy);
2. A3(BCy)3
3. A3(BCy),
4. A3(BC3);3

Correct Answer :-

« A3(BC3)3

13) Sulphuric acid cannot be used to prepare HBr from NaBr as it and itself /

IRIR® TRTS H1 NaBr ¥ HBr dUR B3 & e uga =18 fpar o wovan, w91 a8 3R



g |

1. Oxidises NaBr, reduces to HBr / NaBr G2l Gﬁﬁ?ﬂ% Ddl %, HBr H 3(ufed E;]?IT %’

2. Oxidises Br, formed, reduces to SO, / fAftfa Br, Cal G‘I'\ﬁ;ﬁﬁ Pl %, SO, T 3afad gidm %
3. Oxidises HBr, reduces to S / HBr Ca HW W%, S § 3gfad EPR_‘H%

4. Oxidises HBr, reduces to SO, / HBr Cal &ﬁ’?ﬁﬁ% PXdl %, SO, 7 ufyd giar g

Correct Answer :-

« Oxidises HBr, reduces to SO, / HBr G &r‘h@% Pl %, SO, ¥ eufagiarg

14) Listed below are some covalent molecules. Which is the compound wherein the central atom does not

have an expanded octet?/:ﬂ%'ﬁﬁﬂwwmﬂ%'l Wﬁﬂ?ﬁqmtﬁmamﬁ
Fer qmTy] § favaTia srve gl giar 82

1. HzSO4
2. SFg
3.SCl,

4. PFs

Correct Answer :-

. SCl,

15) If number of moles of solvent is ten times that of the solute in a dilute solution, the vapor pressure of
the solution would be given that vapor pressure of the pure solvent is §0mmHg. /Tﬂ% Udh

TIPd Uia ¥ faamas & armepsi @1 T, faay @1 g9 T 3, 9t faaa s1aw e
g | e T 3 % Y faemae &1 a1 g1e $ommHg 81

1. 72mmHg
2. 720mmHg
3. 800mmHg

4. 80mmHg

Correct Answer :-

16) Be(OH), is amphoteric in nature like AI(OH); unlike other metal hydroxides of Group II which are
basic in nature. The reason is: / Be(OH), UPHfd & Al(OH),; B! avg SHTYHT gid & 711 fh g 1 & 3=
UTd BT SIRITSS FI ave, St f yopfa A &g g1a &1 3qPT PRU:



1. Be and Al have nearly the same value of charge to radius ratio / Be 3R Al P A STUId T 39T BT HH
TTHT A BT

2. Be does not exhibit coordination number greater than 4 / Be &1 4 ¥ 31t T GAT3T 1 UG el
Pl

3. The relatively high ionisation enthalpy and electronegativity of Be as compared with the other alkaline earth

metals / 3= &RIT FaT UTg3ft &1 a1 & Be B I ST QUITSH 3R fagaq Honetemdr

4. The small size of the Be atom when compared to the size of other Group II elements / Be tRTlTUJGh &>, qJHg
11 % 3 ddl bt o H BIC 3MBR BT BT

Correct Answer :-

« Be and Al have nearly the same value of charge to radius ratio / Be 3R Al P B S{UId q 31O HT A
TTHT A BT

17) Choose the correct statement about the basic strength of substituted aniline: /Eﬂﬁﬁ Qﬁ@q G|
&R UTaed & fawd & HEt Y= BT I B

1. Sulphanilic acid is stronger base than aniline / LY INED A&, Qﬁ?ﬂ:{ Y 3w I9d &R a?ﬂ %I

2. -OCHj3 group increases basicity of aniline / -OCH; JHg, U P &Repdl I JaTaT gl

3. None of the above / SURIGd H I ﬁ_ﬁt :@}fl

4. Presence of nitro group increases the basicity of aniline / Q'Cﬂ qHg &1 IufRYd, U ! &Rl o
g gl

Correct Answer :-

« -OCHj group increases basicity of aniline / -OCH3; HHg, Qﬁ?ﬂ:{ D1 &RBAT B! FeIdl %I

18) Negative oxidation state in transition metals is only shown in ./ IO YT | BUNHSD

fRfrepor fRUfY Faa #H fearg Tar 3
1. Sulphides / TeBIZS!
2. Oxides / HVWE@

3. Halides / GOTSS!
4. Complexes / i

Correct Answer :-

o Complexes / BSIE=EN|

19) Alkali metals cannot be prepared by chemical reduction of their compounds like oxides or chlorides

because: /Wﬁ@aﬁﬁmaﬁﬁﬁﬁmaﬂmwﬁm%mﬁﬁmﬁﬁ&h
51 fbar S gwar wife:



1. They have low ionisation enthalpy due to their large size / 3T §g MBR b HRU S0 DHH T IIUﬁN:[

BT gl

2. They form ionic compounds where the metal binds strongly to the electronegative ion / 3 mafe D! BT

famTor R € Sfet 41d 0T fagach e ¥ Tgar A dd B B
3. Alkali metals are very strong oxidizing agents / &R HTqU Sgd Hold SHIdHIHRUI Toic Bl gl

4. Alkali metals are the strongest reducing agents as seen from their reduction potential values / &R HTqU Sgd

Tolgd YA Toic g & oil fb 3 =g SHIfad Al § Udid grar g |

Correct Answer :-

« Alkali metals are the strongest reducing agents as seen from their reduction potential values / &R %I'I_g"q ogd

Tolgd YA Toic g & ofl fb 39 =g SHIfad Al § Udid grar g |

20) Each of the following compounds gives a white ppt when boiled with alcoholic silver nitrate, except

for: / Frafafaa difire! @) wia siewiefire Riear ATge & TTY ITAT ATGT 7, 91 U e uh
g A& ol 3, Riara s

1. Allyl chloride / Tf(Td FIRTSS

2. Benzyl chloride / S8 FIRIZS

3. Viny! chloride / [a-TSd FARISS
4. Methyl chloride / THUTEd FRES

Correct Answer :-

« Vinyl chloride / [dT2d FIRTSS

21) Drugs attach to sites other than active sites on enzymes are known as . /ernsn’r'tl? Tfepg

Sl F IA@I I ARSI A S T B & U A WHT1 AT 3|
1. allosteric sites / TGRSR AT

2. residual sites / aﬂiﬁﬁg BIEE

3. co-factor sites / Hg-hRh HISC

4, prosthetic sites / uRfes gqigc

Correct Answer :-

« allosteric sites / Q?ﬁm NIEE

22) Nikhil always adds 2.28g of sucrose to his morning cup of tea. If the molar mass of sucrose is 342
amu, how many carbon atoms are being added to his cup of tea? / fafea EﬁT{IT 3 I & HYH 2.28
UTH Gob I\ FArerrar 2 | afe eh T BT I S(U[H SHHT 342 amu B, A1 3P A1 &b 6§ fba wra-
TRHATY[ SIS ST TE 82



1. 4.8 X 1022
2.7.23X10%

3. 6.07 X 1022
4.4.8X 105
Correct Answer :-

e 4.8X10%2

23) In Kjeldahl’s method of estimation, the nitrogen in the organic compound gets quantitatively

converted to which one of the following compounds? /m (ﬁ?ﬂ) 3| GIﬂ'FI'Iﬁ?I' P ﬁ:,
Frafafaa o @ fra AR |, Fefe e § Arscio & aemes U d uivafdd fear smarg?

1. Ammonium nitrate / ST ?I%%A‘c’

2. Ammonia / (AT

3. Ammonium sulphate / STy ‘v'l?[eh_c’
4. Nitric acid / Tgfc e ST

Correct Answer :-

« Ammonium sulphate / e “Gl?‘[a‘r(f

24) When an electric field is applied to a colloidal solution and electrophoresis is prevented, then: / &

diarse! faeaa & 99 Uw fagaq &= an] far ST § 94T dgad SU-H9ad & o1l 3, a9:

1. Dispersed phase moves and dispersion medium becomes stationary / gRaftd grawyT i Eﬁ?‘ﬁ % GRI
gR&Tor e fRR 81 AT 5

2. Dispersion medium moves and electro osmosis happens / gfR&qur Aregd fazfie gidn % GEI ﬁgqﬁ
TRIRRU BT & |

3. Dispersion medium becomes stationary and electro osmosis happens / gfR&qur qreqd fRR g1 Srar %’ ayr

fIgaq RRRU ST B

4. Reverse osmosis takes place / (b H-URTHRU] E;\ldl %’I

Correct Answer :-

« Dispersion medium moves and electro osmosis happens / gfeTur AreH iaeha giar % GEI ﬁ’g{q?[
TRTERUT BT 6 |

25) Freshly prepared precipitate sometimes is converted to colloidal solution by: / <TSIT R 3aay

Ht-Hft Prares faera # fra & grr wRafda gt srar @:
1. Electrolysis / a@qﬁ 3fgycH



2. Peptisation / BEICZUI
3. Diffusion / fa&R0T

4. Coagulation / Tha-

Correct Answer :-

« Peptisation / PG

26) From the following organic compounds, select the one which would form the strongest conjugate

base? / FfIfEa Hrdfe NS A, TF & Ta@ Toigd TG STUR F91 8, DT T B2
1. Benzoic acid / aﬁhﬁ 3T
2. Formic acid / BIH® 3F

3. Acetylene / TRy R
4. Acetic acid / Ql%l ch 3

Correct Answer :-

o Acetylene / Ql%l cai

27) Which of the following is an outer orbital complex? /E:Iﬁ q B UD died &P W 32
1. [Mn(CN)g]*

2. [Fe(CN)¢]*

3. [Ni(NH3) 6]*

4. [Co(NH3)g]>"

Correct Answer :-

. [Ni(NH3) 6]**

28) Which alkali metal in its liquid state is used as a coolant in fast breeder nuclear reactors? / P

&R YTg 3T R ST H o siie¥ U] Rudesl # us Xitaaes & &9 | v faar o 82
1. Liquid K / TRA K
2. Liquid Li / R Li
3. Liquid Cs / @R Cs

4. Liquid Na / dX¢cf Na

Correct Answer :-



« Liquid Na/dX¢cl Na

29) Which one of the following statements is CORRECT regarding lead storage cell? / ﬁ'ﬁﬁ'@ﬁﬁ'ﬁ

DI 91 YA S USRI Ad & faug A g g2

1. During discharging process, the concentration of acid decreases. / %Hﬂllﬁ‘ gfehar o EER 1, 3k DI Higdl
I STl 3|

2. During charging process, the concentration of acid decreases. / d ST ufssar & EERI:L 3T DI Higdl U
gl

3. Lead storage cell can only work as voltaic cell. / TS RS Ud Had dlecsd Jd & =0 H B B bl
g

4. Lead storage cell can only work as electrical cell. / S TRl 9d had ﬁ_g'fq—rf A D T H B B el
gl

Correct Answer :-

« During discharging process, the concentration of acid decreases. / Igﬂﬂllﬁl UfshaT & TR A1, 3 DI Figal
I STt 2|

30) Which one of the following statements is CORRECT about the structure of sucrose? / Frafafaa o

q P T HY Gob Il &I AT & fauag o Tgt 82

1. It has no free aldehydic group but has free carbonyl group / Bt Or;lir Hdd YRCHESS qJHe Tl gidl % dfds

U Qepd Hral-d 998 gl g |
2. It is a reducing sugar / g Y WW%I

3. Glycosidic linkage is between C-1 of glucose and C-2 of fructose / W@% ﬁ‘iﬁ, W & C-1 Tl
eIl & C-2 % A GBI 5|

4. Glucose is in furanose form and fructose is in pyranose form / Jq\oﬂw, L’r{j\QI"I\I\ﬂ 0§ qUT e,
ORIRTHIS U H el 5 |

Correct Answer :-

« Glycosidic linkage is between C-1 of glucose and C-2 of fructose / ARHINSH ﬁ‘iﬁ, W & C-1 Tl
ThaeIdl & C-2 & A GBI 5|

31) Which one of the following species has the metal atom in the highest oxidation state? Frafafea |

¥ fore qit=iter & erg T e Siftre SfRTIHT /a1 § giar 82
1. MnO, 2

2. Mn02

3. [Cr (CN)¢ >~



4. [CuCl,] 2

Correct Answer :-
L] MIlO 4_2

32) Which one of the Group 13 elements has a very high boiling point and its liquid form is used for
measuring very high temperatures? / JHg 13 acdl § A {5 9 F1 YR qdgd 3= giar % MR 3'\‘1%7
TR FU T YN 9gd I dTIHH HI WU & fore fomam iran 32

1. Ga
2.B
3. In

4. Tl

Correct Answer :-

33) If the rate constant of production of 2B from A is 2.303/sec, then time to achieve 1: 1 molar ratio of A

to B will be equal to: / G A T 2B & IUTGH BT AT AP 2.303 AP S 8, 9 A T B & 1:1 ITH 3U[FH
SIUT YT B3 BT I HIT:

1.log 3
2. log2
3.log 2/3

4. log 3/2

Correct Answer :-

34) Molecular mass of sodium chloride as obtained from the determination of colligative properties is
./ e Uiyl & fufRor &y wifsaw wakiss o1 enfvas seaa™

FaT gl

1. less than its normal molecular weight / 3% TTHT 3M0dH HR H HH

2. unpredictable / SR

3. same as normal molecular weight / HTHI 3T0adH UR o TAH

4. more than its normal molecular weight / sﬂ% I 3ATfoges HR T 3ife

Correct Answer :-



« less than its normal molecular weight / 3P HE 3HfUgh YR ¥ HH

35) The dissociation constants of 2 weak acids HX; and HX, are 5.8 x 10~* and 3.6 x 107>, respectively.
What would be the ratio of the relative strengths of the 2 acids assuming that the concentrations of the
acids are the same? / 2 HHOIIR 3 HX, 3R HX, %qwﬁmﬁm 58x 1074 3R 3.6 x 1075
g1 3l B Higdl U GU A §U 2 3Rl & ATUef faial ST SuTd F1 gRm?

1.16:1

2.1:16
3.1:4
4.4:1

Correct Answer :-

36) The species that undergoes disproportionation in alkaline medium is: / TR AT |
SFHTIUTAA §1 aTelt yetTfora &:

1. HNOj;

2. ClO4”

3. MHO4_2

4.Cl,

Correct Answer :-

. Cl

37) The product when phenyl magnesium bromide reacts with t-butyl alcohol is: / S e AffRrm

siuTss, d-ogfea Yq@ieia & Iry SAfUTHar ST &, a9 A IaTe aaT 8:
1. Benzene / SSi

2. Phenol / ftbTel

3. t-Butyl ether / T1-SJfed W

4. t-Butyl benzene / ¢1-sgfcd duid

Correct Answer :-

« Benzene / aﬁﬂ:f



38) The coordination number of a cation occupying a tetrahedral void in a crystal is: / T foheed 4 TH

TGUr D 1 e IR IR H1 18 T UFATa- ot IH-aT IS 8-
1.6
2.4
3.8

4.12

Correct Answer :-

39) The solubility of AgCl in water at 25°C is , given that the specific conductance of saturated
AgCl and molar conductance at infinite dilution are 2.28 x 10 -4 Sm2/mol and 138.3x 10 “* Sm%/mol,

respectively, at 25°C. / 25°C TR G-I H AgC1 @t fadgar 2, faar w3 f 250°C W, "qwW Aga
o1 faRRrye Irawqa auT 3Fd TJd1 IR I 3U[H ATadd HHTT: 2.28 x 10 4 Sm?/mol Td 138.3x 10 4
Sm?/mol %'I

1. 1.52x102 mol/m3
2. 1.64x10% mol/m>
3. 1.42x10% mol/m’
4. 1.82x10% mol/m>
Correct Answer :-

. 1.64x10% mol/m3

40) The ore concentrated by the froth flotation method is: / I Wd— uferar gRT Tifsd s %z
1. Cryolite / TTSTAIATZC
2. Chalcopyrites / HehIy ENE

3. Cuprite / RIITRC
4. Calamine / ﬁtﬂg:f

Correct Answer :-

« Chalcopyrites / S RUIC

41) The compound which gives the most stable carbonium ion on dehydration is: / EERIEELR T

9 fRR S1eifrad e+ a1 8, 98 9 @



1. (CH;),CHCH,OH
2. (CH3);COH
3. CH3 CH, CH,0H

4. CH;CHOHCH,CH,

Correct Answer :-

« (CH;);COH

42) Based on molecular forces, teflon is a/an ./ ATa® Fall & SATUR W, LI Udh
gl

1. Elastomer / YT D
2. Fibre / dg

3. Thermoplastic / dATUIR]
4, Thermosetting polymer / yAfafdT giferR

Correct Answer :-

« Thermoplastic / dATUFUA

43) What percentage of void space would be occupied by carbon atoms in a crystal of diamond which

forms an FCC lattice? / 81X & TP Whfed |, 9l FCC SATaP &1 fAHTr Ha1 8, § P w=um), e
RITI & fpae ufa=rd R st H31?

1. 25% tetrahedral void / 25% w INES]
2. 25% octahedral void / 25% 3FHADIT Ridd
3. 50% octahedral void / 50% 3FHeD Y Ridd
4. 50% tetrahedral void / 50% W R

Correct Answer :-

» 50% tetrahedral void / 50% W INES]

44) What will be the initial rate of a reaction if its rate constant is 103/min and the concentration of the

reactant is 0.2mol/dm3? / U TUTHAT B URfHP 3T T 31N, Tfe ST A fAiane 1073/ fiFe iR
SfUBRSD BT IGUT 0.2mol/dm> &2

1. 0.002 mol/dm3/min

2. 0.0002 mol/dm3/min



3. 0.02 mol/dm>/min
4. 0.2 mol/dm?3/min

Correct Answer :-

« 0.0002 mol/dm3/min

45) What is the geometry and hybridization of N and B atoms after the formation of the coordination

complex BF;—NH;? / 94 AW BF;—NH; & 1o & a1¢ N 3R B uHATI[ei 1 saifafa ok
HPHUT T 82

1. N : tetrahedral, sp3 ; B : tetrahedral, sp3 /N w, sp3 ;B W, sp3
2. N : tetrahedral, sp3 ; B : planar, sp2 /N : W, sp3 ;B Fﬂ?ﬁﬁ, sp2

3. N : pyramidal , sp3 ; B : pyramidal, sp3 /N: ﬁﬁﬁl@o[, sp3 ;B W, sp3

4.N : pyramidal, sp° ; B : tetrahedral, sp> / N : W, sp’;B: W, sp°

Correct Answer :-

¢ N : tetrahedral, sp3 ; B : tetrahedral, sp3 /N : W, sp3 ;B W, sp3

46) In the Cannizzaro’s reaction, identify X. / %ﬁm’r 3rfyferar ﬁ, X @t UgdId |

PhCHO +OH- — X + PhCOO-

1. Benzyl alcohol / SSTTSd 3fchigd
2. Phenol / PN

3. Phenyl ethanoate / i) mﬁﬁw
4. Bthyl alcohol / T 3fehigd

Correct Answer :-

« Benzyl alcohol / SSTEA fehigd

47) What is the correct state of hybridization of C atoms numbered 1, 2 and 3 in the given compound? / ﬁT{ RILY

e o, HTE URHTY] BT 1, 2 3R 3 F JH0T BT TS ATRIT RT 8?2

; 8]
78

C CM-H

1.C1=sp,C2=sp3,C3=sp3



2.C1=sp,C2=sp3,C3=sp2
3.C1=sp,C2=sp2,C3=sp2
4.C1=sp2,C2=sp3,C3=sp2
Correct Answer :-

. Clzsp,C2=sp3,C3=sp2

48) The CORRECT order of reactivity of given compounds towards nucleophilic addition is: /

TR w3t 3R AT T At Ft sififprar w1 ad wa 8
I p-Nitrobenzaldehde / p-ﬂ'@mﬁg

11 p-Tolualdehyde / p-SIqUicEEISS

I1I Benzaldehyde / SOITCE 8138

IV Acetophenone / Tt

1 IV<II<II<I

2. IV<III<II<I
BIIIKII<IV
4. I<II<II<IV

Correct Answer :-

o IV<IIKIIILI

49) Given below is the state of hybridization of each atom in the compound taken from left to right.

Identify the compound./ﬁ@ﬁ%%ﬁﬁﬂﬂ%waﬂ@fﬁaﬁmﬁmﬁw
ST T B | AP B uga e

sp?, sp?, sp, sp

CH

1.

2. CHy=C—CH,—NH,
3. CHy=C=C=CH,

4. CHy=CH—CN
Correct Answer :-

« CHy=CH—CN



50) What would be the energy emitted when electrons from one gram atom of hydrogen undergo
transition from the third shell giving spectral lines in the visible region of its atomic spectra ( Ry =

109677 em™, ¢ = 3 x 103 m /s, h= 6.62 x 1034 Js )? / SIS SO & TP JTH URHTY[ & AT & 30
URHTY] WEST & T2 &7 § WagH! 3@1 ¢4 a1 TR S A FHHUT A ToRA R fha-t el &1

Wﬁqﬁm( Ry = 109677 cm™1, c =3x108m /s, h=6.62x 10734 35 )?
1. 18.24 x 10*J

2.18.24x10° ]

3.3.03x10720

4,3.03x10719)

Correct Answer :-

e 18.24x 10%3

Topic:- Botany

1)
If 10kT of energy is trapped at producer level, how much energy will be available to the snakes as food in

the following food chain?/ Tf& 10 FRes(e F=1, 3c9e® TR W 3esh A & dr Feafai@g
@ @ # Tat F v fraer For 399y e

Grass~> Insects> Frogs>Snakes / STH> REOATHFOTT

1.0.01kJ / 0.01 fobalIola
2.0.10 kJ / 0.10 fopaarsa
3.0.0001 kJ /0.0001 fobetoat
4.0.001kJ / 0.001 fobeiIo[a

Correct Answer :-

« 0.01kJ /0.01 foIo[e

2)

Identify the correct type of food chain: / WIed WFIT F 3T TR g

Dead and decomposing matter> Worms—>Birds—> Snakes / {d U9 3TUcH q?:rzi—)ﬁ—)q&ﬁeﬁ

1. Predator food chain / TRHE] @Tel HQcll
2. Grazing food chain / TRUT W] YT



3. Detrital food chain / 3{0Rd] W Y&l
4. Decomposer food chain / 3JUcd JIE YT

Correct Answer :-

« Detrital food chain / 3{URG] WTe YWl

3) In monocotyledonous seed, the endosperm is separated from the embryo by a distinct layer known as:

| ThdtoTaET dteil , YoraRr (@), yor (i) 3 e Ay wd gRT gy giar 7, o ed &
1. Coleoptile / W—Eﬁa
2. Coleorhiza / W—Eh?f

3. Scutellum / UR[ch

4. Aleurone / QFB@:T
Correct Answer :-

« Aleurone / Qﬂ@q

4) Name the wax like substance present in the casparian strip which blocks water and solute movements

through the cell wall of the endodermis. / Wu@ﬁﬁwmﬁﬁﬁmﬁmﬂmwﬁ, < G'H'Ef[il'l:f
(St F Sk fuftr & arew & et aur faea & Hae 1 dedi B

1. Chitin / TS

2. Suberin / gaRA
3. Latex / caq

4. Lignin / SIE!

Correct Answer :-

« Suberin / oA

5) Name the outgrowth at the micropyle end of the seed which is spongy and absorbs moisture readily

during germination of seeds. / aﬁa’r%aﬁwaﬁ?w@m WHTHEFITQ, \_rﬁWTrﬁ_bﬁT‘lT%
aYT Foil F PRI & QR WRaar A 4t B Sra=nfra Har

1. Caruncle / SorATd®
2. Raphe / I
3. Testa / 5|

4. Endosperm / W

Correct Answer :-



« Caruncle / SioaId®

6) Name the molecule that provides the main source of structural support to the bacterial cell wall which
contains special class of compounds in which polysaccharides (glycans) are linked to peptide fragments (a

short chain of amino acids). / wwmmﬁﬁaﬁﬁﬂwﬁﬁmﬁrﬁﬁmwmﬁ
BT Y- |d Ue™ T 3, Forad faxiy o & 9 gid &, o uikaRiss (@g ), Ueiss &
g3l (3 TRys &t e BIdt 4aem A IS 81d €1

1. Peptidoglycan / BISIENIES ]

2. Lipopolysaccharides / ISEICINGERES
3. Mucoprotein / W@Rﬂ:{

4, Glycocalyx / W%Em

Correct Answer :-

« Glycocalyx / A3 PIB AR

7) Name the cell which is formed by the fusion of male and female gametes and develops into sporophyte
that represents the sporophytic diploid phase and remains attached to the haploid gametophyte in

liverworts. / 3 PHRIHT BT ATH FdT &l IR TS HIGT TS & worg- o fAffa g1a 8 aur fawRa
FIHx dITY-3fegg a1d € ol TWRIBTs e GO UrawT &1 ue=i= #d &, 9T foravad # eryforg
TMAPEc A TS Ed e

1. Zygote / QIHAS
2. Anthrozoid / Q?&JIG %S

3. Gemma / U3 &al
4. Egg / 3ISTU]
Correct Answer :-

« Zygote / QUHAY

8) Name the varieties of rice of Philippines and Taiwan from which the semi-dwarf varieties were
hybridized in India. / fel i 3R d1ga™ & ar9d &1 frwl & 910 9a1€, foraa) srg-arv= fway
B URd § Hpivd far war o)

1. All of the above / SURIGd T+
2. Sonalika and Kalyan Sona / GIIfrepT 3R HedTor T
3. Jaya and Rathna / 7T 3R Il

4. IR-8 and Taichung Native-1/ IR-8 TUT ATSYI Hd-1

Correct Answer :-



« IR-8 and Taichung Native-1 / IR-8 TUT TS Hd-1

9) Name the inflorescence in which a hollow cavity is formed in a pear shaped receptacle with a narrow
apical opening surrounded by scales and the flowers are produced on the inner wall of the cavity. / 3

QUIsHH T 19 FaTC forad T ATRIUT & SMPR & Ui § U Wiaar wg il grar g, e
HHI0T SRS I Xewh! F FoRT ST @ 9UT B F Sige-l SIlaR W Ty IUA eI 8|

1. Hypanthodium / B@?ﬁ%ﬂl‘l

2. Cyathium / TTURITH

3. Dichasial cyme / g‘ﬂ"\’ﬂ'@a BRI
4. Verticillaster / TR

Correct Answer :-

« Hypanthodium / Eﬁaﬂﬁ%ﬂﬂ

10) Name the RNA which is the copy of gene from DNA giving the sequence of a type of amino acid to be

incorporated into a protein. / 39 WWWWﬁW%GﬂqﬁW%,Gﬁmﬁ
M 31 F fore vep UpR & i 3t &7 3rgehH el B

1. tRNA
2. mRNA
3. All the above / 3URIad g4t

4. rRNA

Correct Answer :-

« mRNA

11) Name the group of bacteria that are anaerobes and live in the cattle’s rumen and help digestion of

cellulose in the alimentary canal and produce CH4 and CO,. / TrﬂﬂTUJGﬁ & 39 qHg STAMH ET'ITE-’[, 1|
TARIG gid & aUT HafRr & 01 6 ¥gd € 9T Tivor a0 § Segals & Ura- § 7eg ®ed & 9 CH,
Td CO, BT I HId &

1. Eukaryotes / W

2. Eubacteria / uﬁ?ﬁﬂﬁm

3. Archaebacteria / 3{Te] \_rﬂaTUl

4, Cyanobacteria / ﬂﬁthw

Correct Answer :-

« Archaebacteria / 3Te] \_rﬂaTUl



12) Identify the chemosynthetic bacteria from the following. / fafafead W’\‘R’[ﬁ'ﬁﬁ Trﬂﬂ'l'“lﬁﬁ G|
q

1. Azotobacter / Q\_rﬁaaw

2. Oscillatoria / 3R

3. Nitrobacter / mszﬁéaa

4. Nitrosomonas / ?@@W

Correct Answer :-

« Nitrosomonas / TS IITHAT

13) Identify the following non-endospermic monocot seeds. /fFafafead a '?R-‘H:UTW Eﬁm
¥ B ygaH B

1. Rice and maize / Tdd Ud Hadb]

2. Orchid and sagittaria / &Tﬁ’f’:‘? Qa @ﬁ%&m
3. Wheat and castor seed / ﬁE Td 3RS BT diel
4. Banana and cane / Bl 'GRIFI|

Correct Answer :-

« Orchid and sagittaria / b Td afre R

14) One gene may control several phenotypes and the basis is the interrelationship between the
metabolic pathways that may contribute towards different phenotypes. Such a gene is known as: / T

9 ®3 gHaeft & Fafa w3 gedr 8 vd 39T SR I4TI=y 41T & Hed sfadad §, S Sel-
ST JHATORN & fore TN e #% Ihd &1 39 avE P o &I Hed 8-

1. Pleiotropic gene / a‘g';mﬁmﬁ:r
2. Hypostatic gene / &¢I i

3. Polygene / NIECaTIE]

4, Epistatic gene / Uad SiA

Correct Answer :-

« Pleiotropic gene / a@;mmﬁ\‘sﬂq

15) Some plants show more than one type of leaves and this phenomenon is called ./ PS ey

TP 9 AP PR o uRrdi gidl 8, 9UT 59 UgeHT 1 HETSAI gl



1. Cladode / TUMH Ud

2. Heterophylly / fawroofar
3. Phyllotaxy / O0f fa=mg

4. Phyllode / TOTY g

Correct Answer :-

« Heterophylly / fasmowiar

16) Gaseous exchange between organisms and environment are negligible in which one of the following

biogeochemical cycles? / Fafafaad 3 fea 'ﬁlﬁﬂ?’\‘lﬂq @ﬁ'ﬁl’lﬂm sh | oital auT ygtawor
& da Mt fafrmg o g 32

1. Sulphur cycle / Heth ddh

2. Phosphorus cycle / HRDHRY I
3. Nitrogen cycle / ?IEE?ITFT dh

4, Carbon cycle / CACRECED

Correct Answer :-

« Phosphorus cycle / BRBRY I

17) Gel electrophoresis is used for: / E| agqa PHUI-HTAT BT UANT 3'\‘@7 ﬁIT{ gidr %:
1. Isolation of DNA molecule / SIT-U 3] & faa

2. Cutting the DNA molecules into small fragments / SITU G'I'Ul\?rh DHIBIC g¢>5\f T e

3. Separation of DNA fragments according to their size / 3TPR & STTIR Sl m DT YYghU]

4, Construction of recombinant DNA / Y- giTet S} UU BT fFafor

Correct Answer :-

« Separation of DNA fragments according to their size / HIHIR & STTIR SjltEY §$3 | BT Gl

18) Gene gun or biolistic is suitable for: / S T4 7 arifafRe s m ﬁ'q SUYdd aﬂT %’:
1. Transformation of plant cells / UTeU HIfRTB13M BT UG

2. DNA finger printing / @T@’Q iR flifd

3. Construction of RNA by joining the plasmid / TS | ﬁgef ¥ 3RUAT HT fAmfor

4, Disarming pathogen vector / TS daer BT FRIATDRT

Correct Answer :-



« Transformation of plant cells / TG DIRIBTS DT URd

19) ‘Sulphur showers’ is a phenomenon seen in the pine forests is due to: /iﬁg & SiTell A a@ CIE|
qTell T UREEHT e AR HT HROT§:

1. Sulphur sprays during rains / d RS & R Jehr T

2. Copious quantity of pollen release by pine plants / tlnls, e gIRT U HIAT T IR €§|S I
3. Presence of insects / PIc] B U
4, Large number of fruits / Tal Bt as"r =T

Correct Answer :-

« Sulphur sprays during rains / § RS & R Jehr B

20) Photosynthesis is influenced by genetic factors related with: / Wb TRT TRy 3'\‘1'\& Haferd

ATIERIP FRBI A YU EaT 8:

1. All of the above / SURIG Tt

2. Leaf age only / $Had Ud Dt S

3. Leaf angle only / $Had U BT HI0T

4, Leaf orientation only / $ad U &1 UG

Correct Answer :-

« All of the above / JUIad It

21) Which variety of rapeseed is developed for resistance to insect pests? / il & fry fe &1 sl
o & oy fae e forar man 82

1. All of the above / JTRTed
2. Pusa Sawant / G&T I1dd

3. Pusa Sem 2 /%T@TFZ

4. Pusa Gaurav / Q&I TRa

Correct Answer :-

« Pusa Gaurav / Q&I TRa

22) Which factor has the most prominent effect on photosynthesis among various leaf factors? / UBIRT

LAY IR T & fafts eRe! # ga Agcayul yuTe f$a RS &1 8182



1. Leaf size / Ud BT THR

2. Leaf orientation / Tl &1 SAfHfa=aTy
3. Leaf age / PRED] Y

4, Leaf angle / Tl &1 IO

Correct Answer :-

. Leafage/q%a'ﬁGITﬂ

23) Which of the following statement is INCORRECT for restriction enzyme? /Fafafea A ST ar
HY gfaa e TorgH & fawg # e 32

1. It is an endonuclease. / g U '\"S\I'izl\dﬂnl §Y| G\Idl %’I

2. It is isolated from virus. / T8 fauT0] & fagerd BT B

3. It produces the same sticky end in different DNA molecules. / 48 faftra Stue 3{013'ﬁ T A feafed (R
&1 TG FAT 5

4. It recognizes the palindrome sequence. / g CRIGESR] S{IPH UgdI-dI gl

Correct Answer :-

o Itis isolated from virus. /g ﬁw I ﬁw m %I

24) Which one of the following plant cells does not have Kranz anatomy? / Frafafea o 3 fea urgu

HIfRrpT & wiet IS T T8 Bl B2
1. Maize / Hab][

2. Amaranth / ?ﬁ?ﬂ‘s‘

3. Pearl millet / AT STORT

4, Wheat / ﬂ_ﬁ:"

Correct Answer :-

. Wheat /g

25) Which one of the following viruses has RNA as genetic material? / Frafafaa ﬁ'qu'{[Gﬁ o 9 foad
3aifre ARl & ¥ § 3RUAT 8T 82

1. Herpes virus / U ARORY
2. Tobacco mosaic virus / TSI ol dRY
3. Pox virus / UTRT GRRY



4. Adenovirus / Q'mw

Correct Answer :-

« Tobacco mosaic virus / &TH el dRY

26) Which one of the following is NOT an example for polygenic trait? / Fofafea A # I GED
T&IUT BT TP IGTG 0 161 o2

1. Plant height / 18 &Y $aTs

2. Human skin colour / {T-d & BT AT
3. Human height / HI1d G)‘_TII_&F

4. Seed size / SIST BT HTHR

Correct Answer :-

« Plant height / T8 &} $HaTs

27) Which one of the following is NOT used for construction of ecological pyramids? /Frafafaad

o uiiiRufas fiRifrs & fAmfor & fe wgaa T sar 82
1. Number of individuals / T[] P T=AT

2. Dry weight / SYAAEH HUR

3. Fresh weight / Y[k HR

4. Rate of energy flow / 351l JdTg &1 &2

Correct Answer :-

« Fresh weight / & HRR

28) Which one of the following is a free living nitrogen fixing bacterium? / Fafafea A <= Had

wiifad gt At siiam @ediiam) 82
1. Rhizobium / JIZSEIH

2. Azotobacter / USlCIdaeR

3. Nitrosomonas / TSI

4. Pseudomonas / S

Correct Answer :-

« Azotobacter / erh'cﬁaev



29) Which one of the following organisms do NOT reproduce by the asexual method called sporulation?

/ FFrafafaa @ o1 a1 ofita srafe faft gR1 o= 18 ovar, o S w1 omar g2
1. Sporozoan / TIRISISHT

2. Monocystis / AFIRIRCH

3. Plasmodium / m'%’!:ﬂ:[

4. Spongilla / TfSTa

Correct Answer :-

» Spongilla / forar

30) Which one of the following components of the cell is NOT involved in the process of

photorespiration? / CAIeica kg ﬁfﬁﬁl’@ﬂ UcHhi A A B YST 494 CAR'IT ] ﬁ‘mﬁmqﬁﬁm %?
1. Ribosome / IZETHH

2. Chloroplast / gRdda®

3. Peroxisome / ORISR

4. Mitochondrion / AT3CIbIdl
Correct Answer :-

» Ribosome / TIE@@T[

31) Which one of the following examples is NOT a red alga? / ﬁ';ﬂ%@?r mﬁ G ack:| Uh dld
Aqrd 1 82

1. Sargassum/m

2. Polysiphonia / mﬁqf
3. Batrachospermum / é’g@mﬁq
4. Gelidium / ST STH

Correct Answer :-

« Sargassum / wﬁw

32) Which one of the following steps is catalyzed by Taq polymerase enzyme in the polymerase chain

reacﬁ%n?/ﬂﬁﬂhﬁ@ﬁﬁ%ﬁﬁ%ﬁﬁ@mﬁ?ﬁﬁﬁﬂwwmﬁm
ITaT 82

1. All of the above / JURTT i
2. Extension of the primer end of the template DNA / TITIC 8T o URHS R & fawdR



3. Denaturation of the DNA templates / ST ¢HACI b1 iaqﬂrad?{ Ul

4. Annealing of the primers to the template DNA / TIIC SIUAT & ol URYSD! &l A HaraH

Correct Answer :-

« Extension of the primer end of the template DNA / TITIC ST o URHS R & fawdR

33) If there is no crossing over during gamete formation between the genes, these will be transmitted
intact which will lead to the formation of only parental or non-cross over gametes. What is this

phenomenon known as? /ﬁ#%qeq,wm$aﬂ=rﬁs‘ﬁﬁ'ﬂuqﬁﬁm%,a‘r3% S{&UUT
U I yRfYd forar sirem, Y fr Faa ¥q9e siyar R-fafvma gt & e & fore afva wvm 3

TeHT 1 Hyerdl o2

1. Recombinant / Y-: BPISCY

2. Chiasma type hypothesis / %QG[J:IT @T@ET) UHR TR
3. Incomplete linkage / &fqo'Uf Hedddl

4, Complete linkage / QUTW

Correct Answer :-

« Complete linkage / E[Uf RESEGI

34) Forests, grasslands, deserts, tropical rain forests and tundra are examples of: / d1, YT a?ﬁz.rr—r,

IR, Swresfes g auf a9 auT g3 ofe 9P ST §:
1. Biosphere / g Hed

2. Biome / ST

3. Biogeographical region / Sfig-Hrnferes &

4. Ecosystem / ikfRufae a3

Correct Answer :-

« Biome / STH

35) Fine silky thread like structures found in the maize cob are ./ AFPT R | m‘é S areft

TEH IR & Y St TR, I g
1. epidermal hairs / SHfw a1

2. stamens / W

3. scales / Xeh
4. styles / CIRER



Correct Answer :-

o styles/ CIREQ

36) The respiratory quotient in organic acids such as oxalic acid and malic acid is more than one
because: / SiTeRIIToIP TRTS Td AftTer TRis o STd-® il § 49 YNTHd T & 3ifUd 819 ¢,
Fife:

1. Organic acids contain same number of oxygen as that of carbohydrates / FIEFD T o W@? &
T €t SoRitor 3 oft T gt B

2. Organic acids contain less oxygen than carbohydrates / FIEFD T o W@? Y o Ea?f %I

3. Organic acids contain more oxygen than carbohydrates / PIEHD A H W@T@T{gﬁr T 3ffde o
g3l

4, Organic acids contain more carbon than carbohydrates / HIEHD 3 T ?ﬂﬁfg@f Y 31 FHIe B B

Correct Answer :-

o Organic acids contain more oxygen than carbohydrates / PP 3 H Eb—ITﬂEE%_C' T 3P RIS
gl g

37) The light dependent splitting of the water molecule is called photolysis. Name the ions which play a
prominent role in this process. / STl 3(0] & UHT W FHR fAuTer ®1 ybTar-3raere FoT o 81 39
wihar ¥ U U YfeT U™ a1at 3=l &t A Fan|

1. Magnesium, calcium and carbon ions / ﬁmﬂ, P ] P T
2. Magnesium, calcium and chloride ions / ﬁ'mﬁl'qﬂ, s LE] m ST

3. Manganese, cobalt and chloride ions / ﬁ‘?ﬁa, BHIdIeT wd dQ'ﬁQI%S A4

4. Manganese, calcium and chloride ions / 'aT\FﬁGL G Td ?ﬁﬁ?ﬁg A4

Correct Answer :-

o Manganese, calcium and chloride ions / a”ﬁ\_rf, Hicrras od EIT“hTIB_s' A4

38) The biological nitrogen fixation requires which of the following component? / wfd® :IT?{aGI':T

frufror & fore Frafafea 3 @ foa aee 9t srazgear 32
1. A strong reducing agent only / Had U Uad UAaH

2. All of the above / SURTeRT FHT

3. The enzyme systems only / PHad UsTed gunferdt

4. ATP to transfer hydrogen atoms to dinitrogen only / PHad EIES:J\_YH W'UJGh Cal Slq:llgij S H RIFIdRd
B o forg Tdidt




Correct Answer :-

« All of the above / JUad I+t

39) The duration of leaf on the plant body varies. If these fall soon after appearance or just after the

opening of the bud, they are ./ MY F IWR W i mﬁ-ﬁ-ﬁﬁiﬁ?ﬂal afe & SufAfa
& q3d 91 3YaT Hell b JGad gt ofeg 81 PRI &, A 3 gl

1. deciduous / JUITTHt

2. caducous / UGS

3. evergreen / Ferquif

4. persistent / FERI]

Correct Answer :-

« caducous / ﬂﬁa’g

40) The polysaccharides are linked by means of glycosidic bonds in which carbon of one sugar unit is
bounded to the oxygen atom of hydroxyl of an adjacent sugar unit. Since water molecule is produced, this

reaction is known as: /uﬁﬁm,mﬁaﬁﬁrﬁmﬁ%%mmﬁﬁﬁﬁ?f%ﬁmﬁwmm
BT BTa-, GHIUR ST SBT3 S I3 b Mo YA A FBRT g 81 Afer oI & 3u] 1
ITE BT 2, ST ag srffisar 3 1w | oIt oIt @

1. Hydrolytic cleavage / STA-3TgeIT fdaT
2. Hydrolysis / SIcl-3{UdcH

3. Polymerization / dg<ich
4. Dehydration synthesis / IEENICRU RS

Correct Answer :-

« Dehydration synthesis / foIcld 0T HQHOT

41) The host of Mycovirus is: &:icacioes: Kl ﬁﬂ? e
1. Fungi / dhddh

2. Mycoplasma / TS IATGH

3. Cyanobacteria / ﬂﬁtham
4. Algae / ard

Correct Answer :-

« Fungi/ddd



42) The process of ATP formation from ADP in the presence of light in chloroplasts is called

| givaea® (FaRIYarge) # U1 @t IufRufa # TSidt & vl w1 ot ufshar & am

EICIE]

1. Chemiosmosis / THURTERU}

2. Oxidative phosphorylation / i efca PRBIRE®RT
3. Photophosphorylation / TICIth W IR AT hRUT

4. Photolysis / UPIRI-3UYCq

Correct Answer :-

« Photophosphorylation / A PRV IR 2R

43) The gene interaction in which one gene masks or modifies the expression of another non-allelic gene

is called ./ o foraa sn=aferar § Te S o TR-udifere ofiq &t siftraafaa &t savifea
AT AT a1 2, 39 FT Al g |

1. Quantitative gene / HIATHD S
2. Pleiotropic gene / agmniﬁ ST
3. Hypostasis / Emﬁﬂ%lﬁr

4. Epistasis / @ﬂ%ﬁg

Correct Answer :-

 Epistasis / Qlaﬁéiéﬂ

44) Who discovered recombinant DNA (rDNA) technology? / ﬂ?lﬁ"'l\_r[ _ﬁplel'E (rDNA) qH1P Bl Wil
[ERE kN

1. Walter Sutton and Avery / dlecX ¥ dYl Qﬁﬁ

2. Stanley Cohen and Herbert Boyer / e a”ﬂ%:[ LRI 3&% TR
3. Hugo de Vries /E:CITh S ol

4. James D. Watson / SR 8. aTed

Correct Answer :-

» Stanley Cohen and Herbert Boyer / T aﬂ%:[ dyt 3&% TR

45) ATP is the energy molecule of the cell which release energy when the bond between the second and

third PO4 is broken. What is the chemical reaction known as? / 'Q'(ﬂ'ﬁ PIRABT BT ol {7 %, S St



aﬁgaaaﬂ;%aawqﬁ?ﬁﬂ%pm%mwam;ﬁ%’lsvwm%arf‘u%maﬁmqmﬁ
ST STt 82

1. Esterification / WUT

2. Hydrolytic cleavage / Sd-3gge-g fagrur

3. None of the above /mﬁ@fﬁg 'J-ﬁ:lgbf
4. Dehydration synthesis / IEENICEUEEGRLYI

Correct Answer :-

« Hydrolytic cleavage / STA-3TgeIT fdaUT

46) cryAb genes obtained from Bacillus thuringiensis are effective against: / e gﬁﬂﬁﬁ

YT cryAbGﬁqmﬁwulﬂﬁm%:

1. Cotton bollworm / HUN SledIH (Bic Siqaarn)
2. Nematode / THICIS

3. Aphid / 3fthe

4. Corn borer / FabT I8H (EF‘IJT'T@%{)

Correct Answer :-

« Corn borer / HdHT 94D (?F\Iefm

47) What are cladodes? / UUITY U4 (FASIST) FT 82

1. Branches of stem with limited growth which are green and flat-like leaf/ ifrd q@ CINKGRE PG
% T eX Td AUe B & |

2. Green flattened or cylindrical branches of unlimited growth / S q@ qreil g3 IUE ST SR
AT |

3. A modified stem to give support / HGIXI S 11 U =UidiRd o

4. A modified stem and act as climbing organs / U FUidRd T % dyrgg Udh 3‘[@3‘3 T H Y H BRI
ERGI

Correct Answer :-

« Branches of stem with limited growth which are green and flat-like leaf/ ifrd T{@ CINGRE IRATY
ST O BX U HUIC Bl |

48) What do we call the self-pollinated progeny of a homozygous plant? / §H TP W’lﬁ'ﬁ ey & -
WA Hafd Bt 1 Hgd 82

1. Domesticated plant / Trguiferd urey



2. Improved variety / 98X fheq
3. Pure line / [ dRIhH
4. Hybrid / §HR

Correct Answer :-

« Pure line / Y& IRIHH

49) What is the name of a functional three-dimensional form of a protein? /A & WW -
TR U T 14 F1 52

1. Co-factor / Hg-hRch

2. Substrate / Hd¥AX

3. Enzyme / [UTIEL

4. Native state / UTpd qRIT

Correct Answer :-

« Native state / Ul d SIIRIT

50) In Pisum sativum (peas), the pods may be inflated (I dominant) or constricted (i recessive).What
proportions of the offsprings in the cross Ii " Ii would be expected to be inflated? / UTSHH ﬁasatr H)
o, weft, eft @ uHTdh sruar Wefa ( smuTd) B el 81 19 1 1 § Wdfd & {9 srgura §
A Dt GHGHT gRT?

1. All are constricted / GHI w gl
2. All are inflated / FHT E{?J(‘”[ Y gl
3.3:1

4. 1:1

Correct Answer :-

Topic:- Zoology

1) Colour blindness is an X linked trait. A colour blind daughter is produced only when: /a'UI'f'iIT'lT, U X Hedd

AT ¢ | T quity i )t S ad a« gl 8, oa:

1. A normal man marries a carrier woman / Uh JTH &ﬂajﬂ Udh digh II'%FIT I QTI_QPI hIdl %I

2. A homozygous colour blind mother marries a normal man / b JHYTH quifey AraT T ATHT TGH! I e} dal %I
3. A colour blind man marries a normal woman / U oty 3TeH U W II'%FIT Y e Sl %I



4. A colour blind man marries a carrier or a colour blind woman / Tdh quifel TGHT Udh digh g1 Uh quify 'q%fﬂ I T
FRATBI

Correct Answer :-

¢ A colour blind man marries a carrier or a colour blind woman / Tdh guify 3TeHt Udh digdh gl Uh guity 1:I'%T'IT T T
HRAT g

2) Name the kingdom which is eukaryotic, unicellular and with simplest type of locomotory organs. /Tﬁ?ﬁ'{ﬁﬁ?,
THPHIAD Y TYT AT PR & I 3T a1l SITd BT 91H Fa1e |

1. Fungi / dd

2. Protista / TfexeT
3. Monera / AIFRT
4. Algae / ard

Correct Answer :-

« Protista / Uife=eT

3) Name the genetic disorder in which there is the presence of an additional copy of X chromosome resulting in a

karyotype of 47, XXY. / 3 STIa I fAdR &1 A0 Fa1¢, orRi# X R o1 v srfafved ufa Mg gl €,
fora® TRUTHE®Y 47, XXY BT TP HEHUFY gidT g

1. Thalassemia / SCTRIAEET
2. Klinefelter's syndrome / FAZAPhec? ﬁl@jﬂ

3. Down's syndrome / T3 ﬁf@ﬂ
4. Turner's syndrome / TR ﬁl@jﬂ

Correct Answer :-

» Klinefelter's syndrome / AT eeR ﬁl@ﬂ

4) Name the area of healthcare that offers advice on genetic problems. / FTRRY Tt 39 &F ST ELIY Eli

STIARF TuEst W Jeag Iar gl

1. Genetic engineering / \’rlﬂa'm SfiADT
2. Genetic seminars / G‘I'I:ET&W gt

3. Genetic counselling / Gi'lﬂﬁ@la? R

4. Genetic modifying / s{aaﬁm FURBRI

Correct Answer :-

» Genetic counselling / Hﬂ?@@ R



5) Name the blood vessel that carries O, rich blood to the heart from the lungs. / 3 Yd&d qIfRHT BT ATH IaT8 ol
SffeteT | TR 39 B! bhS! A 81d U U a9 A Sar gl

1. Vena cava / 9T ST1al

2. Aorta/ IIET?FFﬁ

3. Pulmonary vein / pUpY RRT

4. Pulmonary artery / W—ﬂﬂ:ﬁ

Correct Answer :-
e Pulmonary vein / pUpd R

6) Name the specialised cells formed by the fusion of an antibody producing cell and a tumour cell. /Hﬁ?&'ﬁ

IATGH BIRABT YT T e HIRMHT F Jaud grR1 Affa faRiw Hifrer w1 9m9 Fart|
1. Myeloma/qﬁl'@?{(mgﬁql)

2. Lymphoma / T’I?ﬂib—@?{ (I%’l'qaﬂ'l)
3. Hybridoma / Eﬁﬁ_fﬁrﬂ
4. Sarcoma / T (HT

Correct Answer :-

e Hybridoma / E'E@@TIT

7) Name the immunoglobulin antibody that is responsible for the features of allergic reactions. / 39

TRRaTERA TAaTS) ST A1 qaTy, st geauTd sifufareh wanfs Rugsm) ¥ g swverh §
1. IgM
2. IgE
3. IgA

4. IgD

Correct Answer :-

8) § ame the two hormones that are active during lactation. / TI=IHqUT & aTF'I afpyg 3.1% m@f E.Pf ETFﬁT'ﬁ' & A
qdrad|

1. Prolactin and progesterone / afde sik u‘l@@ﬁ

2. Prolactin and oxytocin / PINIEE] od iR

3. FSH and prolactin / ThUHUd Td PINIEE]

4. Oestrogen and oxytocin / Q@@H T4 SfeiTelf



Correct Answer :-

e Prolactin and oxytocin / Ehaﬁ_'l QH IR

9) Name the unique embryological process that transforms the fertilised ovum into a solid mass of cells. / 38

%@%ﬂuwﬁﬁaﬁwmmmﬁﬁﬁﬁ?ﬁﬁﬁaﬁaaﬁaﬁﬁmﬁﬁmwﬁmm
|

1. Division / fTaHTSM
2. Cleavage / daxUl
3. Fission / fa@s

4. Meiosis / G{W
Correct Answer :-

« Cleavage / faazur

10) Expand NACO: / TUHI3N &1 Quf U 3:
1. Natural AIDS Control organisation / TRl Ug O'bg\lﬂ 3T 3‘@13 B
2. National AIDS and Comfort Organisation / ERET] ey ug S 3‘"%1%@'521:[

3. National AIDS Control Organisation / IR[-¢ UgH Cbg\lﬂ OEIEENE!
4. National AIDS Calculating Organisation / EEIEK] ey %ﬁﬁm TSR

Correct Answer :-

» National AIDS Control Organisation / 7R[-¢] Ugd Cbg\lﬂ TSR

11) Body of echinoderms are protected by exoskeleton in the form of: /Q]Eﬁl'lﬁih'[ IRR TR HDTd gRT LGRS
# WRféra grar e:

1. Scales / R[eh

2. Ossicles / 31RUBT

3. Spines / [T

4, Hairs / &1

Correct Answer :-

« Ossicles / 3BT

12) Body of a centipede is covered with chitinous exoskeleton. Which of the following is NOT its function? / Th

s g1 HAEeR BT IR FHrsfet afe:Fora I g1 ghar ¢ | Fufafaa # Q@ o9 suer o 38t 22

1. Locomotion / ddd



2. Muscle attachment / W7 JAUD

3. Protection / TR&[0T
4. Prevents entry of water / SI¢] & TR B Al %

Correct Answer :-

* Prevents entry of water / SIc] & YR &I AHdl %

13) Acoelomates are characterised by: / Qﬂﬁg?hﬁm 3'\‘1%7 R GIﬁ-Iﬂ'f&l?l’ 3-1% %
1. Coloem that is not lined by peritoneum / iy S aRkeiae SR 3N q@fﬂ?ﬂ %I

2. Coelom that is not lined by mesoderm / Tl o AR gIRT 3T '_‘%3[ E:Pl?lT %I
3. Cavity with blood / Y& & HTY T&TI

4. Solid body without a cavity surrounding internal organs / AR 3T & 3-UT el & o1 3 TR

Correct Answer :-

« Solid body without a cavity surrounding internal organs / AR ST & SMT-U TeT & fo1 31 TR

14) Which type of symmetry is most advantageous for a sedentary (attached) animal? / RITdg (HY) TR &

forg fre v Y wwfarfa aad siftres emvg 32
1. Bilateral symmetry / @'CI'I'Q[T:[ BRI

2. Pentamerous symmetry / Uyt qafifa

3. Radial symmetry / 3Rg At

4, Biradial symmetry / fg-sR Tofafa

Correct Answer :-

« Radial symmetry / 3R1T JafAfq

15) Which of the following hormone is correctly matched with its deficiency disease? Fafafead s

B IE1-98) 3 a1 | A Wrar 82
1. Parathyroid - cretinism / aﬂqlg?}l%g - SlgdTHAdl

2. Gonads - goitre / ST Y - USHTC

3. Growth hormone - acromegaly / qf@ SIHT"I - Helh[Ud]

4. Insulin - diabetes insipidus / Eﬁﬁ‘ﬂ - Iﬁa—é

Correct Answer :-

* Growth hormone - acromegaly / qﬂg 6IHT"| - Helh1ddI



16) Which of the following is an uricotelic animal? / frafefed 9 3 #1991 uoft Wﬁﬁﬁ? 4
1. Frog / ﬁw

2. Camel / 3¢

3. Lizard / f&Uehait

4. Goat / S

Correct Answer :-

« Lizard / f&Uehdll

17) Which of the following is NOT a chordate character? / ﬁaﬁr@a -k | CaC| W GIﬁ-I?I'&I'UT qﬁ%"
1. Dorsal tubular nerve cord / q@ﬁ EINCACAREIEED] RS

2. Vertebral column / HRIBHT WY

3. Presence of a notochord / Y853 DI JurRfd

4. Presence of pharyngeal gill slits / PREIRT] %RDT D Ul

Correct Answer :-

« Vertebral column / PRSHT TH

18) Which of the following is NOT a function of amniotic fluid? / fafafeadd == Q'Wﬁa? Qd DI aqu'é’r
&

1. Provides nourishment / TYSUT U&= &l % |
2. Protects and cushions the foetus / YOT @1 I& HT § 3R ded Ua Bl gl
3. Prevents physical injury / IRING die  Fardl %I

4. Prevents temperature fluctuation / dTUHIT o34 -deld Jbal %I

Correct Answer :-

« Provides nourishment / TSUT Y& &l % |

19) Which of the following is NOT a type of vaccine? /Fafafea g @ s dwiig &1 Uh YPR T e
1. Toxoids / TGS

2. Live organisms / {Igd Gﬁﬁﬁﬁ[ o H

3. Killed pathogens / fhcs am

4. Attenuated organisms / &@7[*1%_6' G—ﬁﬁ\_r[a;:ﬂ

Correct Answer :-

e Live organisms / ¢IIgd Gﬁﬁﬁ[ oH



20) Which of the following statement is INCORRECT about notochord? / eI s ar sy LGRS
& forwa & o 82

1. It is located on the ventral side. / dg YT &l o fya Eﬁ?ﬂ %I

2. Notochord is of mesodermal origin. / JYSX] HESTIIR H DI g gl

3. All members from Porifera to Echinodermata are non-chordates. / TYRURT & Uh Ié:i SHfer d & gt Jog ﬁT—
RS A RInE

4. It forms the central axis of the body. / dg IRR BT W SHE& gATdT %’I

Correct Answer :-

¢ It is located on the ventral side. / dg YUY Y&l o fya Eﬁ?ﬂ %I

21) Which of the following statement is INCORRECT about haemocoel? / Y&I[@T & W‘J-fﬁ ﬁ'ﬂﬁl@ﬁ - kac
T HYT 34 82

1. Annelids have haemocoel. / Qﬁﬁﬁﬁ o RESHG] Eﬁa % |
2. Internal organs are bathed in blood. / 3ffafe 3T I A §é Eﬁﬁ %I
3. Sinuses are filled with blood. / IS Yckd I U;ﬂ_cf Eh?f % |
4. Haemocoel is found only in certain groups of animals. /
RG] P Sl & P & FEl H MY A € |
Correct Answer :-

¢ Annelids have haemocoel. / Qﬁ el | REGHG] Bﬁﬁ %I

22) Which of the following factor is least important in affecting linkage and crossing over? / g ddl CaRHIEG]

a1 fafrrg - © i 3 @ 19 91 $R$ 999 $9 Ugayul giar 82
1. Environmental conditions / AUty f&yfa

2. Strength of linkage / FedAdl P &

3. Age of the organism / i 1 3g

4. Exposure to X-rays / X-foRon & o

Correct Answer :-

¢ Environmental conditions / LRI fufaq

23) Which of the following is the second generation vaccine? / fafafead == W’\ﬁ Tﬁ?ﬁ & b
@Rf) &2

1. Vaccine for hepatitis B and herpes virus / %ﬂ?l%ﬁ? s ayr WW@I & ﬁ‘lﬁ aTﬂﬂ:f



2. Vaccine for AIDS / UgH o felU dai=
3. Vaccine for Feline leukemia virus / fa€Tel Q’\IaT‘ITUl Rpddl ﬁwerﬁ CANLY GENIT)
4. Vaccine for Foot and Mouth disease virus / TR YT H4 AT & M&ﬁ & forw CERIE]

Correct Answer :-

» Vaccine for hepatitis B and herpes virus / gUcTsfed o qut WﬁW\’rh & foag CENIT]

24) Which of the sexually transmitted disease is caused by Treponema pallidum? / ;}77?#7-77' W DRI

Frafafaa & 3 &9 w1 a9 Safa T gar g2
1. Syphilis / USRI

2. Gonorrhoea / THIRAT

3. Hepatitis / RUCT3C

4. AIDS / UgYH

Correct Answer :-

« Syphilis / SUCKT

25) Which one of the following statements is INCORRECT about lung? / m F g<u A Fufafaa Ean k)|
TP Y 39 82

1. Lungs are spongy with numerous polyhedral surface markings. / m ﬁ EIEW g fagl & a1y el g B |
2. The right lung is divided in to 3 lobes externally. / WW EI'I_E!ﬁ ¥ Q= 4 A fawfora @a % I

3. The left lung is divided in to 2 lobes externally. / EIpl m Eﬂ%ﬂ FTUY Eff YTl o fawfora Epl?f % |

4. The right and left lungs are of the same size. /E"Iﬁ wd aT\liI m Th ﬁ 3HR b Eﬁﬁ %I

Correct Answer :-

o The right and left lungs are of the same size. /mﬁ od aTﬁ eb_Cb% Tdh _Evp[ PR & ﬁ?f %I

26) Which one of the following nitrogenous compounds is highly toxic, if retained in the body? / fafafeada

DI AT TS A Srafie faured 8, afe =¥k & yror farar sme?
1. Urea / g[_AT

2. Ammonia / ST

3. Uric acid / R 3T

4. Creatinine / fobfefa

Correct Answer :-

« Ammonia / AT



27) Which is the most important biochemical activity involved in growth? / Q'@ o =i e q’gﬁ"]}’f
SR afafafy = @ @2

1. Protein synthesis / PIEERSEGLLY
2. Enzyme activity / UoIISH Tfafafy
3. Hormone production / E'I'J:ﬁ:l RICICE|

4. Catabolism / AUdYg

Correct Answer :-

« Protein synthesis / PIEERSEGLLY

28) If a virus invaded a body cell. Which of the following cells would be the most effective in destroying the host

cell? / Tf TS FAWTY] U T5-PIRPT IR gHAT BT ¢ |l Ffifd § & £ W SIRme1E e wifRrersi
DI Y HIA § I S guTdt it

1. Helper T cells / 9glddh G| m

2. B cells /& m

3. Cytotoxic T cells / grseleliaysd ¢l BB
4. Macrophages / dg H&PIU]

Correct Answer :-

« Cytotoxic T cells / gl <l HIRMDI

29) Urine is concentrated in which part of the nephron? / {J, &b 1] & fra T # wifed sidt %?

1. Loop of Henle / %@f Iyl

2. Distal convoluted tubule / GX&[ Haferd Afere
3. Vasa recta / a1 YaeT
4. Proximal convoluted tubule / THITR] Haferd AferapT

Correct Answer :-

» Distal convoluted tubule / gI¥J R CINGINED

30) A true coelom arises withinthe ./ Tdh gyref Wer_ ¥ v Iaa1 %I
1. endoderm / mﬁ

2. ectoderm / EI'IERITf

3. mesoderm / HEISIR

4. mesenteries / 3T



Correct Answer :-

¢ mesoderm / HEGIAX

31) What are 'rugae' with reference to digestive system? / UTI< d F e o = %:?
1. Foldings on the anterior palate / qﬁﬁ?ﬁ?‘lﬂﬂ? In%
2. Another word for villi / faecll & oIt T 31 Wsg

3. Longitudinal folds of the mucus membrane of the stomach / JTHIRIT Gl W ERSIED] Hﬂ%‘lﬁ ud
4. Sacculated colon of the large intestine / 1 3fid BT HUBIRIPd Joald (Hlei)

Correct Answer :-

» Longitudinal folds of the mucus membrane of the stomach / 3THIRIT Gl QI\@I'N:IT ERSIED] Gi:ﬁi'fl ud

32) What do you mean by 'negative growth'? / "TPRTIHD q%' T SATYHT T ?l'l?[q'&%"
1. When catabolism exceeds anabolism / S 3{UTY, Ig q 3ifer Eﬁ?ﬂ %I

2. When a person turns obese / 9§ aﬁs‘ Hfad YT _épf SITdT % |

3. When a person grows abnormally / S ﬁ’s‘ fad SRR =0 9 dedl %I

4. When anabolism exceeds catabolism / SId T, U T 3fH _@Tﬂ %I

Correct Answer :-
¢ When catabolism exceeds anabolism / SId U, I g 3ifew Eﬁ?ﬂ %I

33) What do you mean by the 'brush border' of the small intestine? / BIST 3T P! T TS A ATUDT T
aread g2

1. Muscles of the inner stomach / 3fdRe Ue @ HIGURMET

2. Foldings of the small intestine / BICT 3 BT Ihg

3. Villi seen on the mucosa / m R fég areit ﬁ?ﬁﬁ

4. Microvilli seen on the villi / Tael TR f&@= areft g&A faean

Correct Answer :-

« Microvilli seen on the villi / faeelt TR fezam areft g&d faeelt

34) What is ‘diatomaceous earth’? / «ZTcH H’c[ﬁﬁ[” T %?

1. Fossil cell wall deposits of diatoms / STICH D1 ST STy BT fHfT
2. Collection of brown algae in sea / JH% | "-E T % AT BT AU

3. Diatom in the gut of blue whale /et B9 o 3fid & S’IeH



4. A collection of diatoms / STICH] BT TUh U

Correct Answer :-

 Fossil cell wall deposits of diatoms / STICH D1 STHT SITAT=RH HIRIHT MR

35) Monoclonal antibodies are used in estimating the quantity of a chemical in a mixture: a technique called
immunoassay. Which of the following CANNOT be identified using this technique? / 'QW’Fﬂ ufaveft &1 uaT
o firgor o forsft T &Y A &1 S e & fore faran oiran 8: ue aeHie, ot uforen #ed €1
Frafafea # @ f5d 59 do-e F YA §RT T8} Uga™=T o ol 82

1. Blood test for pathogens / RUNECACH 1%111 ECSRURL|

2. Urine test for drugs as used in athletes / Tyciel Ugdd g™ & forw A TRI&fur
3. Urine test for pregnancy / TYaRIT % fo HA TRI&0r

4. ELISA test for AIDS / T8H o forg Tferam aterm

Correct Answer :-

« Blood test for pathogens / T & o Yad e

36) Kamala had damaged fallopian tubes and hence the couple had infertility problems. What kind of assisted

reproductive technic can be adopted in this case? / maﬁ%mﬁ'-ﬁqﬁao‘r &‘I'I%I"JIW @'Tl'gaﬁ? Wms\q
Huf ® Sigra & IUwn 8 5 | 33 fRUfY # {59 ueR 3t us=e ae-te @) U= S g$dr 82

1. In vitro fertilization / {1 ﬁa T
2. Surrogate motherhood / IRNIe Hidd
3. Embryo donation / YOI qI

4. Womb leasing / T tl% TR AT

Correct Answer :-

« In vitro fertilization / ﬁa T

37) Ruminant animals have a compound stomach with 4 chambers. These chambers are modified oesophagus and
stomach. Which of the following is a true stomach? / w0 urfora A 9= $&ﬁ' GG WIB?; STHIR™ @Tﬂ %I |
T TUaivd TRIBT TUT ATHRM gid 3 | Fafafaa # ¥ o1 v aafae s 82

1. Reticulum / STTfeTeRT
2. Abomasum / SISR[d
3. Rumen / UYH AHHIRTT

4. Omasum / ol STHIR™

Correct Answer :-

e Abomasum / STORId



38) Birds excrete nitrogenous wastes in the form of uric acid to: /qe, W I & FY ﬁqﬁﬂm 3Ry
Ifoid Hd g arfp a:

1. Conserve water / STd1 TRF&A B b |

2. Eliminate acid / 3% &1 febTel Tb |

3. Eliminate excess heat / 3fad &1 &1 HepTdl Tobs |
4. Eliminate excess water / 3fRad ofdl &I fHeb1d T |

Correct Answer :-

« Conserve water / STd GRI&Id B I |

39) During embryonic development, a yolk sac is formed which is derived from: / YUT CACCan K aaRT'_'T, Udh

oI Aeft 1 Frmfor g @, S S99 W g 6
1. Mesoderm / ARG

2. Ectoderm / STerH

3. Endoderm / 3fa=[@H

4. Embryonic disc / 0N fid

Correct Answer :-

» Endoderm/ &mmaﬁ

40) HIV chiefly resides in T lymphocytes and mainly destroys: / Q?l'\?fﬂﬁ RLC2IESR] q T—?I'Im\?fﬁ | edl %
3R Y1 ¥U | X Y Bl 8:

1. T4 cells / T4 PIRIBTH
2.Bcells/B ﬁﬁlﬁxﬁf

3. Macrophages / 98¢ YT
4. Antibodies / TfeRT&!

Correct Answer :-

o T4 cells / T4 DIRABTH

41) Mucus cells, oxyntic cells, chief cells and G cells form a part of the /mﬁw aﬁﬁm LN

PIRBTT, GT HIRBTE R FIRMBIE %wmﬁmfwamﬁ%l
1. Large intestine / a?f’r 3fid
2. Small intestine / BT 3fd

3. Stomach / U¢



4. Oesophagus / PINENI]

Correct Answer :-

e Stomach / Uc

42) Endospore formation in bacteria is concerned with: / \_rﬂaTUIGﬁ | ﬁ'GITUI W CaRIGR] m Hafea g:
1. Reproduction / UST<

2. Photosynthesis / UPIRI BSEGLIE

3. Food storage / U USR

4. Respiration / g

Correct Answer :-

e Reproduction / UST—-

43) Transitional epithelium has the unique feature of stretching without getting torn. Which of the following

organ has suchalining?/m@mﬁmﬁwaﬁmmmﬁl ﬁmﬁ’r@ﬁﬁﬁ
e 3T o THT 3RaR BT 82

1. Kidney / 9d

2. Urinary bladder / HARY

3. Intestine / 3{Td

4. Stomach / ATHIRIYT

Correct Answer :-

 Urinary bladder / HATRI

44) Pick out the feature that is NOT true about a bacteriophage. / 39 fARvar FTIga S mﬁ-ﬁﬁ F IR
GR U

1. It was discovered by Edward Twort and d' Herelle. / Sﬂaﬁ CIS| Q@H_Sc Tlac T @’%ﬁm §‘s‘ i

2. They are virulent and avirulent phages. / 3 qYl ST =R g %I

3. They are characterised by an angular head and a tail. / I TP B RR 3R T Ug ¥ 3rfiaférad gid %I

4. They are bacteria which infect virus. / aq \_rﬂT:ITUl % S ﬁ'qTUJ I Ueh i R § |

Correct Answer :-

e They are bacteria which infect virus. / Jar Gﬂa’rq % S ﬁ'EI'I'Ul P HehfHd BHd %’ |

45) Glomerular filtrate contains 180 g of a substance which is reabsorbed completely so that its value in urine is 0

g. Identify the substance. / AR fheeye A U TTGTQ‘f 180 UTH Eﬁ?ﬂ %, Sife ‘]:Uf Pk | g-: g ferar siran %,



fora gfemt & st |raT o 9 et 81 uerd Y ugaE w3
1. Urea / giRAT

2. Sodium ion / JfSTH AT

3. Glucose / W

4, Potassium ion / uﬁﬁmtr ST

Correct Answer :-

» Glucose / ‘@W

46) From which part of the nervous system do the parasympathetic nerves arise? / CIECIGERAC KT R
WU dfeT I gl 82

1. Thoraco lumbar / G&HIC

2. Cervical / JtaT

3. Lumbar / $fe

4. Craniosacral / BUTARS

Correct Answer :-

« Craniosacral / BUTAR®

47) Identify the organism which have single stranded circular RNA, and they are minute and not encapsulated or
have naked RNA. They infect only plants. / 3 SIId &1 Ug€TH &Y oW THhd 3d MATHR ARTEAT 84 B,
YT I & gha & SR TYfed =181 gd 3ruar 379 A7 SR 181 gid | A Haa el &I epfid Hd B

1. Prions / YT
2. Bacteria / W
3. Viroids / GRRIGSH

4. Virus / dIOXYH

Correct Answer :-
« Viroids / aRRITEH

48) 'Red tides' that sometimes arise along sea coasts are due to: / “TT¢T SR ot wi-wf qYx qel W Id %',
ITPHT RO 3:

1. Production of toxins by poisonous algae / SR a1dt gRT fauTad yerdf &1 I

2. Overgrowth of dinoflagellates / m P 3 ?-lq <l
3. Overgrowth of algae / AT 3“%@'@ |
4. Tide that occurs after torrential rain / SAR STl HAATYR & X & 1¢I5 3



Correct Answer :-

« Overgrowth of dinoflagellates / mﬂﬁﬂﬁ? P &ml

49) Bronchioles differ from bronchus is that: / mﬁm %]W;ﬂ R | THUYDPR far 3-1?“ %:

1. It has more sub-epithelial lymphoid tissue / 3TH TP IT-IUDHA ABTH FHdb 8ld 8 |

2. They are larger than bronchus / ﬁ[ ’dﬂ:ﬂ @ a% Eﬁ?f %I

3. They are not supported by cartilage / J IUIRY gRT gafdq Tl Eﬁﬁ % I

4. Mucus secreting cells are absent in bronchioles / YGAPHT T TereHT HTfdd DIfRrent \’dﬁcﬂz@ﬁ gt %I

Correct Answer :-

o They are not supported by cartilage / d U GRT gafdq Tl Eﬁﬁ % I

50) The lungs are enclosed in specific double walled sacs called ./ m, fafRw gigdt lari
arelt Aferal ® H@ed §id 7, o HET A5
1. Pericardium / GITARU

2. Pleura / pUR-HIART]
3. Mesenteries / S{AURMT

4. Somatic peritoneum / Trafes Uil am
Correct Answer :-

» Pleura / pUpHTARUT



